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UNIT TEST p. 11

A 1Youand |/ are friends. 2 The shop // is open
from nine to five. 3 Good readers // always look
for topics when they read. 4 Getting up early in
the morning // is quite hard for me. 5 Students
from Korea // are usually very diligent.

B 1S 2P 3C 4C 5P 6P

C 1father 2women 3dog 4city
5 Mastering 6 people
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Grammar for NEAT
(2) didn’t work  (3) |
(5) because of the bad

Step 1 oiA| & (1) got up late
missed (4) will take a taxi
weather
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UNIT TEST

p. 21

A 11am not(I’m not) good at math.

B 1like
C 1 Does
D 1 How is the weather in Korea?

2 He does not
(doesn’t) get up early in the morning. 3 You
can’t(cannot) go there by yourself.
2do 3are 4No

2Yes 3doesheteach 4 Whendid
2 Who did you
meet yesterday? 3 How many children do they

have?
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Unit 06 > 3=, ZE=E

Unit 05 > 87}/ 28 / MEiolE=
UNIT TEST p. 25

UNIT TEST p. 23

A 1isn’tit 2 does he 3 won’tyou 4 aren’t

A 1 What — How 2 How — What 3 prettya —a
pretty 4 How — What
they

B 1didn’tyou 2willyou 3can’the 4 shallwe

B 1 and 2or 3Don’tbelieve 4How
C 1 Let’s go out for dinner. 2 Don’t(Never) be late
C 1 where heis 2 when she will be back 3 how | for school. 3 Please be quiet‘ = Be quiet’

did my homework 4 what makes you think so please. 4 oryou will (you’ll) fail in the exam
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3 How smart (you are)!

D 1 Do, or 2 What do you think 3 where she
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| JeviEw TEST pp. 26~28

10 2@ 30 4@ 50 6@ 7@ 8Don't
eat, or 9 @ 10 What is the weather like in
Paris? 11| know when his birthday is. 12 What do
you think the truth is? 14 ®
15 @ 16 (1) He doesn’t want to talk with me.
(2) Don’t(Never) be the first one to come here.

13 isn’t she, she is

17 (1) Don’t let’s — Let’s not (2) it was boring —

boringitwas 18 @ 19 Yes,ldo. 20@

Grammar for NEAT
(2) How
(3) going to send a postcard

Step 1 (1) arrived in Busan with my friend
exciting the game was
to you

Step 2 oA &
along one of the famous Olle trails, beautiful it was,

in Jeju-do with my family, walked

are going to visit the Teddy Bear Museum
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B: 2 el f 2ol HABHRY 7t
» 27222 2Ho22(Do you really like fishing?)olztz
Mzist ChEsich

Zt

20 ofE MZS2 EfEU} B2l 2af 20 2=Chn AZISicE 152 Bt

JtMo2BE &1 Uity = T, EiEs Ok He2REE &
= O|R7} glch. J20] LofLt | 2 4 UK OR=71? 2|1 Al

400rZo|cH 72 theEe| MSECt o Wh2rt Bt A% 49|

CH 3242 I CHEE AAto|ch J=X| 942717
> @ ZFHOIZR0IB2 00| TO|2AHF0{+SALIL E[0fof BTt

m2tA, how fast it can runo& Hpof Stot,

Grammar for NEAT
SETAD (2) How +E2AH (30| +S AR
(3) be going to +SAtS: ~3t

Step 2

1. O|LP7} OfRlish= 2 M=

Zo|ct

2. 0L7t 2= Bt ¢ fEe 222 B SILE 271

3. OJLi7 L & < EfC] Hlof BiERs Rk

SallyojiA|,
Ol O{E| XILHLI? Li= OfR| S2| 7153t 81| HIFEE0 E&kH0, L=
HMZZ0) 7H 2 & QULI? LISHE= 0]#H0] H20[0k, 25 22l= fEst 27

Z & SILHE Z2{01. 0okt OIS EEIX L2 HIT| Hlo] Ei=2of Z ofFo]
Of. U= Hsks ofEHA B AU? Li= S X AUX|ek ui7t 27|
Al Bl

ajLtzt

FRIX] metsto] ojHZe| LHES BRIt BME, o2
=, dEE S e el 2ES 0

[E510] Om| LS REMBiTh

Check Your Writing
0TI HETHHHEISI0] S AT [0 SUZILIR?
orst FElo| 2R ASRILIR?

N

=
Ofoll 57 2YS 2EHUR?

Yes No

Chapter 03 | 282

Unit 07 > 10
UNIT TEST

, 284

S{Al

o

0|

P. 31

A 1134
B 1C 2C 3A 4A
C 1 angrily — angry

2 154

house —to my house

3 234

4184 5284

2 arrive — arrive in

3 my

4 excitingly — exciting

D1® 2@ 30 40

O

. BE ARISS AT ==Lt
» All people(zof)+die(EAh+some day(EARR).
2. U= ofcjofl 7t UL?
» Where(Q|22Ap+are(EA)+you(Fo)+going(SA?
3.Jenny= o EES|CE
» Jenny(Zof)+is(SAh+young and smart(&=oq).
4. 3= 2 Eofl 2 Zolct,
» He(Z=0f)+will come&EAp+home(EA)+Soon(EAD.
5.5k=0] LA | OISR
» The sky(Foi)+turned(EA
AD.

h+black(=oi)+ suddenly(s

B » 2o zoit =2xi0j0) =2
£ JnZEE 2407

1. OS2 8¢g ZRIS0IRACE

= BE / BAF): SALL SEAL CHE RAF

» besAte| Hojo|ct,
2,79 ¥ZL2 B2 SoxCt

» becomeg| 2ojolct,
3. A2 0RZ0M E3iLE2C

» SAHflowsE $AlsH= HAILO|C
4.Mike= ThEtEH AAS 71X|T QiTh

> SAt came2 Ak EAO|C,

. J= < 37t 0] 2t

> 284410 look L0l HEAL 07t 2Lt

2. 152 LY MS0i| =2Fe 2ok

» arrive(Za6HCHs XIEARR ~of| ER5iCE o o|n|7t &la{H M
XAZHEesH

3.4e

> o ak=

x| 22| Foll 2 AL?
ojn|7t Elofof st=2 TR|AL toE oM RA

7} zlofof Bict.

ESiEnie S

I



4.4 ofo|cjoj= S0lEA St
» sound Ct20ll= S+ Ho{7t 2Ct,

3.JennyE Lol gAE 2YiCt
> sendrt 43Aloz MY mi= Tsend +ZFHEE0{(me)+ 2y
2x0f(a postcard),o| HE{o|ct L 48AIS 3FAICRZ HE
D 1. »feel cigoi= sigAH RO 20t
2. b H3IZ LIEHH= SAE get, become, grow

& = MXAHtOS ARSSICL
4. U= O{E7| HA FRE| 7h=XIE LoilAl sl & 4= UL
3. » be, become: ~7} =it > tello] 48rloz Mo = Ttell+ZHE2 R0+ 22 R0, 9|
4. p lives XISAIZ 2AT)7H LR5Ict / abroad @ 2I=ofA, SJEHOICE Of7|Al= 2= X047t "Thow toRRAL 20|t &
in Australia: £AF, country @ =7t 5t Mx|ALtOE 0|2510] 3HAICZ HIE 2 QICt
C » 2=zl ~oii|, SESH: ~2

1. MAMEE LiofA| M2E SIX BiE FAICH

2. Li= U 1ol ol =2i|AS 2HES0| FACL

3. U JHolA o 2XE FUCH

Unit 08 > 384 484
UNIT TEST p. 33
A 138A 2484 338M 4384

4. LA S ALY

B 1 hearto — hear 2 visit — to visit 3 me — to

me E& a postcard me — me a postcard 4 me — D »azs Fot st zimasol 2ol
to me E= mes tell §2 2y

C110 210 3D0 4DO

D 1 He bought his girlfriend some flowers. 2 Ms.

3L 0|+ SAHBHO{+ TR+ XA
1. J= 19| 6XRIFE ffa 22 AlCh
2. Parker MM 0] 0iS0) L2/0i7 X218+ 7123 Zolct,
Parker will teach geography to us this summer. 3. HIHEES S SHSLITR
3 May | ask a favor of you? 4 Please tell me the

truth.

4. M LA TS Zall FMIS.

A 1. Sslis ot Foi2 sl 2k
» Who (o) +will teach(ZSAHSAIYE) +English(2x
of)+this year(£Ar)?

2. Davet a0l 7] st TS RSO FICH

Unit 09 > 5 &4
UNIT TEST p. 35

»Dave(Fof) +made(sAf) +her(Zi=xiof) +a cup of A 1tocome 2 tell the truth 3 singing 4 a great
coffee(=IH=x0y). musician
3. d= HMeZ 7S HAUCH B 1happy 2play 3do 4todo

» He(Z0f)+ate(@A+a hamburger(@=xiof)+for lunch(g
AR,
4. 22l 0| 70| UF &7| W20 Z2|ZLI0IZ O|At 7k HE

C 1helped 2caused 3felt

D 1 called me Jimmy 2 elected her the mayor
3 have him fix the car 4 saw her crying alone in
her room

rLk=: )

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
i
i b askis 43Al0)A] 334AI0 2 HEE off FMX|A}OfZ 2rt
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
1
» We(F0{)+ considered(SAh+ moving(2=o0{)+to i
California(®Al) +because ~ (RAr). A > SEeisiols 20jo| Al el S 2ol
| 1. gl L7t 2 et JlhsiLte?
B 1 U= AmaigiM L stolcls S2 4 itk | » herg Mefsl 7= 22 to comeolct,
b heart ~g Etf k= 50| EfSAZ FAINIGIO| Bi2 2x0iE | 2. LH= 50| ARIE Usl== & Zoict,
i » thems Agis == e tell the trutholct,
3. 22l= Tomo| el 22 2t
|
|

» Tome M = U2 singingolct.

8 Hello Grammar &4



4. h= 7t 25 72t A2l

» him = a great musician

1. 2= 19| 225 #=5HA| B Aol
> Bt SMAZ07LHE 4 it

2. U= 7t Hio|22l AFsts e BUL?

SHO+SAEY

0

p X|Zt=sAt(see)+=
3. L= 37t 23 3 Y2 THA| S1=F K| 42 Ao|ok.
> ASAt(et)+ 2X0]+ SAIRY
4. U= Ut O 22 SIS HEith

> want= toRYAE SHAZ0Z Fiol= SAI,

1. JUe W7t O 2XIE F= WS =R
> helpe X702 SAIFS(Solve)S & 4 2o ool
ZASICE,
2. 17t 2bM Z2 EXIA Uk
p cause +=2Xo{+to E™AL (EX0{7) ~sl== o7 [5iCh
3. L= 20l 0t L7 te= RS LU0
> X2t feel2 2XZAH0Z HRHEACOMING)S £ & U

On ojnly AHsIC,

. »callAB: A= Bztz 2=rt

2.p elect AB: A= Bz MEsict

3. > have(ASSA)+Z2x0{+SARH
4

[N

- (EH07h ~5
. > see(X|IZSAN+ S X0{ + SAFH EIHZAD: (SH07) ~ot=

== Al7|Ct

A

mjo

Hrt

I_QE\/IEW TEST pp- 36~38

1M 2 @ 3® 4 She showed all her friends the
letter. 5@ 6 ® 7 send him my best wishes
8 ask a few questions of them 9 ® 10® 11 (1)
me — for me E= this toy soldier me — me this toy
123 13@ 146 15
18 (1) to buy (2) fly
(flying) (3) organize (to organize) 19 & 20 @

soldier (2) sweetly — sweet
® 16 O 17 allow us to go

Grammar for NEAT
(2) are in danger
(5) may

Step 1 (1) saw a bird fly (flying)
(3) is melting (4) gives us the message
disappear

10 ®au=

Step 2 ofA| & a polar bear standing, is in danger, is
melting, gives us the message, is getting, may
disappear

= JHE S0 22 S0{7H| Lt

> AIHSAH SX{0] + SAIRE

j_|_:1‘— 1 AAL % % % H OI—AHO| xH:IH HK#E|-

> H3IE LIEH= SAK=turn, grow, become, get Sojct.
Li= U7t 22 iSsh=s RS si2tet 4 it

» allow +2x0{ +to &AL

JlH= 1 HXIE s ZS0ll7| 20f =0

> ShOW 2OSA0|ZE2 ZFHEX0|+EHER0], FEIZ £ 4 Q)Ct
@ L= QXIS 0FF Z0I3H,

@ LIz MES X =Lt

@ LK =2 SIASS 9ol BAIES CIXIQIBIC)
@ 12| 0fs2 Xiztd Z910| STk,

Sti7t S0IM & 2 oIS Eut

> @ a soldiers FZHO0{(2EA), LIHXI= 2X0{(3g4)
@ 2l= J0iA st Zoll 800 2IE XIZ3HCt

@ L= o= S70AIE o] ARRIE
@ S2l= =dof Susang o= Elrt

@Tinak LH Aol LiAl 1YL0|S FUCL,

20f & o] Qick.

oY

©® Jgo| d&io| 20| B2 nES 72X FUCL

» @ chairmang ZxZAH0{(5A)), LIHX|= 22 X0|(4SA)

L J0iA| M QHRE Tl FMIL.

> 4groz TEA(send)+zZHEEH0him)+2m=EH0imy best

wishes), 0{20| Zlofo} S},

L= JS0iAl 2 71X Z2S & Aok

> aske 45AIS 3402 HEE f ofE A
of fask+=x{0j+of + Bx424,9] ofeoR RS BHECL

@ Ui oCloflA] AtLI?

@ Li= O%S ARBsHe us oict

@ Aot LtollA| o] E2AS AF AL

@ Y22 U7t 71 Z0tsk= AHALE

® JldEs 22 Uo| YojLtn UEXIE =7| $f6h wo= Lt

» 184l (to see what was going on2 2Ap)
<] ZFoA ALE S FUCL

@ 0| 2= O5 AELZ Bk
01| CHEH HSHE PHEUC

@ 147+ 2R R MS sif & Ao|ch

@ I= 142l &

® L= 3 2JAle Tz oflefs JiCh



> @584, Linxl= 384l
11 (1) el gomixi= Lol of Ztzt
» make A B: Aoll7| BS 2ts0f Frhagisl)=make B for A(3&4)
(2) 27t 2212 s HFEH SAL OF LE5t
» sound+EgA 2oy
12 oue
> XZiSAsee)+250l+5
@ 4= Ut a2 Yg sl
> MESANMake)+SH0{+ SARIY
A

@ L= J4Z stoia W We Zashil Jict

= U7t eetohn E5F= WS 2T

SARI

HEACE

GWNEN)

> Zx0{21 my roomo| MEshxl= zioloz
2\t cleanedst =esict
@ 1= =NE
» tired(mzsiz)=
6 1=
» expect+ZSHH+toEXA}
13 @ 2= Wizt 47 (0 71 3] et
@ Lk= 11 gxtofiA L H2lE Xi2A| 4ok
Q@ L= &7t L 0IES H2= A2 SUCL
@ 20| 42| 0F22 HIRA| Bt 71LI?
®as2
14 » taste +&2A} 2o
15 » @ watched= x[zt=AE 2xizim0j2 SAFYE0
ALESHCE to A= & 4= §lCk
16 <=7y L= Holil xiig orso) = 2
@ = 19| IXFEIA ChootR=
@ I52 LIE Fe=z & » SXZE
Q@ U= gt LHE 7| BHECE » SXZE0
@ J4e U7t XIE 26| |FICh » SXZE
® Lk= MS0| ot U=
17 allow+2x0{+tosEiA}
18 (1) o =0| 27 M X2 At 22 THS5HA| Rt
» enable +2x0]+to 2XAL

sfat mzaHc,
Z0f heo| HEIS LIEHHE F2=20f

2 Wt 2zlatns 23 oK R

Tort =2 AS 2T

L SIHEAME

||:}, p XFEX O-I

hul=Eal]

RE XA, > SHAZ

(2) 22l= ZMS0| 52 HoP ks 42 XIHRUCE
b XIZHEAKWAtCh)+220] + SARYE (BIRHEAD
(3) L= 7t TfElE Alst= 22 =it
» help +2%0{+SAIIE o2 HAD
19 @ 2o 2ade J14E M- o= pisgirt
@ o] HaHe TI4E &
@ 1149] HoHe OiH7t FAls| BESIZE 3Ct

@ J140| £2HL TS ES AROR OIS

10 Hello Grammar 24

20 Mariak =2 Alofl Q= X0 ofAIAOA] USITE “ARIS0| X122
oAl of cs =2 EokrEs A2 WY Moo, 2k Marias 2

SiCh Ol HEIHE0| 0] RS S4 O1Z0l| U= HIZAS EEE &
£ Marias 33 W2nsn SM9| ARIK| 221712 oo |2
ACk7t Lol 252 71817t
LK 7H= His AITHO| 1547HLE EIELICH
> (A) Z0{2 M0{0f SIEE tORHALL SHAF SEl7t E|ofof
(B) help+2=0{+=A¥E tos ™A (O "There is/are+3

o~ 22 F0{7} 154 Stepso|=2 24 SAtares} 2C}

SICt “ARISD} 0|0 [GH= 22 MO|QUNS,

X2, ol SYel m2| &

o

ct.

Grammar for NEAT

(1) XIZtSAsee)+2xof + SALLE BMEAD (2) be in
danger 2I&oll &l UCt (4) give +7FE=x0{+2IHS o]

0| ZAEOIN 2= 23T 3t 0l2]7t Y2 £2 ol MU=
g =, T Q7| TR0l Yol &sH 2
1= ZlsHof Stchs o
201712 51X|

S322 530/ 220/ 02 B2 =

oA XIF 2HSE

ARIE 20 X B8 O SAX|1 o 227t XE S92

o an2 STHAZ|7| Half =
e, E552 2 ARHEX|: 220,

> EAEO] AR BARR} 7| TESIIA} sh= HAIXIE LEt= 22 &+

Check Your Writing Yes No
ZARO| ARIZ MESH RARILIR?
ZAEV} TESR= HAX|2 LIBS ABHLIR?

O ol| 57| 2YS 2HEMLUR?

Chapter 04 | SAt2| AlX|

Unit 10 > SixH/2t71/ O[2HALR|
UNIT TEST

A 1 will
B 1came 2runs

p.- 41

2rises 3was 4 leaves
3 lived g4is
C 1 rains — will rain 2 are — were 3 have — will

have 4 will not hurry —do not(don’t) hurry

D 1 am going to travel 2 will arrive 3 washes
4is
A 1. L= Uidoll 174k0] = Ziolc > Ojk
2. EfY2 SZ0M ELCt » B 22|
3.79 Ol52 28 Hofl ZollM =QACE » 2k AR

4. 37 HUE L= 012 £ 2ol



> AlZte] EAFEIMN= SRH7t O[2iE CHAlSC
B 1. 3= oix @=01M KTt b yesterday= aj7{ 2Ap
2. 5142 MZozZ SEC} p SIX| A
3. Li= 0] mizjojlAf Atk » last years oj 2A
4. 2E SPYR X177t S3C0h= AS It » =Ho| 22|
C 1. w2 HPPtE oIt
» tomorrows= ojz EA|ZZ SAK= will raing 2t

2.Johnzt Sues @5 OFzlofl Stmol| X|ZH3HCt

» 0|o| Yojt
3. R2l= 27t 2361 Mg Hg Zo|ct
EAEME
4. NFEX| pfoH, e 7IRIE £ Aolct

SAEME

> AlZtel izt of2

» X740

a1

SXH7t O[S CHAIRICE

D 1

2. p0J4

» OJ2: be going to + SAIIS

3. > ool St

4. > Z7AO| BAFEOIME SAH7}F O[S ChAIBHCY

Unit 11 > Sixi2tz, ai2ts

UNIT TEST p. 43

A 1done 2had 3since 4 hasbeen

B 1eat — eaten 2has —had 3 have met — met

4 have — had

C 1 have been 2 had never met 3 have been
4 has lived

D 1haslost 2hasgone 3hadbought

A 1 o= gz axE Rt

b justs ‘w3, af ojak= 2ln|2 IHrol| AIRKe SRS SXH OIS

2 ojojst=z FHxi2AE Thave has) THRALES £cf
2. L= a7t 22 7 A2 Uit
> HES 7 A2 7L WS AECH M Uojt Lo|=2 chatA
Thad +I17{2AH S 20}
3.Andy= 1995512E] Q8|02 RiCh
> Ot 20| AIRLE! AIMS LIEILE since st HASIC
4. 3= K|t AQLAULE] OFHCE

> Xt UQLURE] HAWIIX| ORE H0I22 HMRAZE 20t

B 1. Johne orx #71z oix| eict.

» Sxft=: have (has) +Ii7{2AL eat —ate —eaten

20|22 izt Thad + 1t
3. 22le Xl Fol| QS SHCE
> last weeki TAIRIQL S £C
4. L= =2 AOHRY| 2ol 2E A
> ES 02l 20| HX| ot
Ah7} ZlofoF Bt

f o SARACh

o|=22 thatA Thad +apHE

C 1. otetoptks Z35H x| 15 T4

» for 15 years= 154 SOF A& A
LiEf= Ct.

2.Billo] MAS S ST 2SS ofFol| 29 22 S ot

SiM 22 des RA

glzl
o

o

olnfsict mtM ALS sixet2 have beeng

I'Ii

T

{0

SAAC.
p Billo| MAIS0| S2t AIR(TA)ECH 11 0ol Lojt Yojaz
Hzt7 Thad + 2ARALS 2Lt
3. L= 2Eof o2 B 24ACk
» many times7} Qeoz Asg
TEEE F20iM ARUCE
> sincert ooz A2

LIEIL= SRS L0t
4.Alice=

= LIEIL= SIRI2AZE 2201

D 1. Brad= @Al= ojHZct T2iA 0= At eict
> Brad 7t 2iHol| HAIE loft{2! Znt SixY

o= dn2tzel Zut ook,

F27} gick= 2jojo]
2. MER TZAR 20 = XIZ of7]0fl §lCk
> SUAZ JHHHM X|F 07| giths ®
3.Lk=0lIE
> J0IAH & AECH XFHAS A 0] HA 2

TRtz ol Zunt Z-o|ch,
Tol| AFHHE M aRE J0A FRACK

20{'h Lo|=2 CHabA

Ty

=)

Unit 12 > ZIRHAIH|

UNIT TEST p. 45
A 1watching 2Were 3willbe

B 1reading 2wastaking 3 been

C 1doing 2wasgoing 3has, been 4 will be

D oAl = 1 He had been listening to music. 2 He

had been playing baseball. 3 He had been

watching(seeing) a movie with his girlfriend.

A 1 uu=EMeTVE Bu ot

> oI TR Q= S



N
=
N
2z
ol
33
mlo
i
rr
o
=
e
mjo
L;
g
30
:Q
T
D

> A Aol T SO SHo[E2 DpATIH0| 20
Xl 2
> LHY XHol2k= Dj2 Aol Zojutn Q= SECe= DjiEA

3.3 U

ol =2ct.

0)

1. oI 5t Q= SEo|Ch,
2. 2% 2A|2k= 1A ALl SEo|ct,
3. 3AIZH

Bo|o2 SN FsS0| 2cf

S AL QIEHIE HAISIT Ju XEE T ¢l

ofn

os]

%
X
Ral
i
o
ol
30
=

s L Tl ofcloll 7k
B: L= Mlnb=oll 7t U%H0d,
» thenolzt= Tp7{ AR Zigg|T QL=
3.A0
B: 3% ¢t H|7t 21 o],

AKALL?

SEo|ct,

Of S0 H|7F 21 QIL|?

> DASE AEGHA SMZIKIE TRIEY QL= H0|22 SAliRiz
ZISH0| =ct
4. A L= LY Mol 9 St Qg AL?
B: 2imE3t Fals 21 U 7ot

> O[2H AHolA ZtE S=olct,

D A:James
b Z20| WHRAZ ZI3S0|2Z Witz FI3E Thad been +SAt
& -ing 2 =5t
1. listen to music 22 =ct

2.play baseball of= sict

3.watch (see) a movie 3= Hr}

[ QeviEw TEST Pp. 46~48

1@ 2® 36 4havelost 5going 6 @d 70

8 (1) moved (2) hadgone 9 & 10 ® 11 won’t
12 haven’t 13 @, @ 14 | have worked in the
office 15 @ 16 ® 17 @ 18 had seen 19 (1)

have you lost — did you lose (2) are you — have

you been (3) has stopped — stopped 20 ®

12 Hello Grammar 24

1

10
11

12

Grammar for NEAT

Step 1 (1) read a newspaper (2) listen to music
(3) fly a kite

Step 2 ojA| & (1) eating a sandwich (2) reading a

newspaper (3) riding a yellow bike (4) flying a

kite

Ho| Rmte Foj| AAIL?

> ol ALK o 2ozt =lojoF st22 beSA LRSHH,
parents’t 24-80|22 Ares} 2ct,

LHE LH AY0 ERFRIET L LA & T2l TS QO RCt,

> HE|TS gloR! AECH GXIEIT7t ozlEis & X0| 2N o]
ot do|22 thuty Thad + ARALE 2ct

Tl Xt 2 0IS2 0] AFRAOA Ush 210 QL

> since(~0|&2)7t Qoo SIriARO| A4 80| HMESIC,,

Lk= MP3 Z2/|0|0{Z glo{Hz{A XIZ SiCth

> Tl 2rst ol Auprt ol &

ol H=Esict,

St2 DIR|= Sixjt=ol Ant
Lt= 75 o ©o| ok 7ok,

> 0[2HE LiEtl= will=be going to + SAIE
A: Ol Mg olm QUU?

B: ofLjof O2=X| &

> SR} 21 F91 L§Zo| e,
Bobg 10| 2 ot &yrt,

b juSt7} S0P7k= 2Ixle hasel FHRAL Alop7 Ssict,
(1) Matt2 33 5 202 oJAfC

iz

> ago= FEGt LtEHLE 20|22 BHAMZ MOF SiTt,

(2) L7t a0l =2k4e Jeanol Foil 7+ #2l 2 LAt
> LH7E SIS Zi(a) =t Jean ol Hoil 712! o] of Bx o

20|22 thatAZ Mot Stk

m, Li=

> AHAIN[0|2E2 THAHE ol0|sh= BARZE 20
> doesn’t2 =0} 321% T4 Z0{7} Zes|Ch
A: LHY gt st

B: ot 7o,

» willojzt= olef@cz 2231 Noztn thERieoz2 ojid

willz} 283 noto| £et5401 won’t7t 2ct,
A: @zHoto|ct

B: 2l 22150t 145 2 Bt

> eHTHo| olo|2 haven’t7}

=Ch

Bifoo= S0k SHIK| RIUCHs

13 @ au= nziEE = =o| gt



14

16

17

18

19

20

© 1 Ex=
QL=

» last night= st 0i74= ojn
@ 19| Of{Xl= 17} 314w SO HCE

» since2 whenez digct F= diedZ2 have been

M| AR ALL?
OfZligt ANAEIS HRACE

= M

[5k= FAOICE

dead= HpRCE

® Ltz ol & 71 2 o] Uck

> A&2 LIENH=Z | have been to London twice. 7t 2ict,
LH= 0|5 St 1 AIRA0IAM s ULt
> OIE Zofl AIZRHAM XIZ7HK] YsHRT U= 0|22 SRS

ARZSHCE

A: L7 MBS I He 22 ot UALI?
B: Li= ARRIE st U
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A 1too,to 2tallenoughto 3 brightenough to
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—too old to drink 3 cold enough — too cold
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D 1 howIshould 21shouldchoose
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A 1foryou 2ofhim 3difficult 4 nice
B 1 seems, you are 2 seems, he was 3 seemed,

she was 4 seemed, you had been
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A 1steal 2go 3wait 4 to finish

B 1them do(doing) 2youclean 3 had better
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Grammar for NEAT

Step 1 (1) to be a pianist
(3) decided to go to China
Step 2 ofA| &

- Club: Book Club

-Your name: Sena Choi

(2) to join the party
(4) (to) make, come true

-Reason to apply:
be a writer, to hear, to apply, (to) make my dream
come true, make many friends who are interested
in writing
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Unit 18 > SEAI| 2joj2

UNIT TEST

201/ AlH|
p- 65

A 1 winning 2 my(me) parking 3 her stealing

4 his (him) coming

1 taking —to take 2 | — my(me) 3 to read —
reading

1 solving 2 my father(’s) being 3 having
helped
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Unit 19 > S3AI2| 2E =+
UNIT TEST p. 67

A 1laughing 2no 3 like
B 1skiing 2cooking 3 getting 4 shopping
C 10nUpon)

4 from

2 making 3 using

D 1 worth 2 forward 3 used(accustomed)
4 difficulty
A 1 332 0 2280k L= 2K 942 4 Bl
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» cannot help -ing: ~&Ix| 942 4 gict
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3. QIESIE ME A OfELI?
» Why don’t you+SAr4&? = How about -ing?
=What about -ing?: ~at= #| ofuf?

1. » be worth -ing: ~&t 7}x|7} Qct
2. » look forward to -ing: ~517|2 nCisict
3. » be used@ccustomed) to -ing: ~of 2i&sict

4. » have difficulty (in) -ing: ~sl= o ofzi2S Zict

DEVIEW TEST pp. 68~70
16 20 3® 4@ s5calling—tocall 6 see—
seeing 7 8 @ 9 @ 10 dressing 11 to write
12 @ 13 @® 14 my(me) 15 help 16 having
won 17 @ 18 (1) to leave (2) talking 19 (1) I=
Y SAWX| Yste o Ax3ct  (2) 1 =2 JiEt AlRES

=7| 2loll ABEUCE. 20 @

Grammar for NEAT

Step 1 (1) Listening (2) Hiking (3) working (4)
walking (5) shopping

Step 2 olA| = popular leisure activities among teens,
watching TV or movies, playing sports, Using the
computer for the Internet or games, reading, enjoy
listening to music
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Grammar for NEAT
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Chapter 07 | At

Unit 20 > SIRIEAL 2HHZAL

UNIT TEST p. 73

A 1S 2 SRHEAL 3 ERiRAL 4 ST
B 1broken 2boring 3excited g4 lying
C asurprised 2 written 3 dancing 4 scared

D 1issleeping 2made 3crying 4 cut

A

B

C

D

1. 252 7AollM &7 olofF7[st QT
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Unit 21 > 2ARLE

UNIT TEST p. 75

A 1 Visiting your grandparents, don’t forget to buy
some fruit. 2 Being very rich, he lived a very
simple life.

B 1Though 2 While 3Because

C 1 When |2 25t 5 Coming 2 Listening 3 Not
knowing

D 1 sitting on his chair, with his legs crossed
2 Smiling brightly, she said hello to us. £= She

said hello to us, smiling brightly.
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2. ZAISEr| A2 = She smiled brightly and she said
hello to us.

Unit 22 > FJ5loF & EANE

UNIT TEST p.77

A 1 It becoming darker, he turned the light on.
2 Having known the fact, she is not going to invite
him. 3 Strictly speaking, she is not so fluent in
French.

B 1Being 2Being 3 Having been

C 1)udging 2Iltbeing 3having 4 Considering

D 1 Generally speaking 2 Weather permitting

3 Not invited
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’—QEVIEV\/ TEST

pp. 78~80
1lying 2tiring, tired 3@ 4@ 5@ 6@ 70
8 ® 9 Trying hard 10 Having finished 116 12

® 13 @ 14 didn’t have, Not having 15 ® 16 @
17 with your mouth full 18 a computer made in

Korea 19 The man standing over there 20Q®

Grammar for NEAT

Step 1 (1) Washing the dishes
broken pieces (3) Treating my cut finger
Step 2 ojA| & (1) Walking down, found
do
and said she had lost some money.

(2) Cleaning the

(2) know,

(3) Stepping on, looked (4) Then, a girl came

I 7l= G 2ol = UUEL,
lying

O et H0|UCt Jld= U TiEsiA ¢

> lieo| SixiAlE2

AlZtol| RESO{HRICE,

» tires ‘mZ&HA SlCf k= Qo2 ‘mEsH| ftes o 2 tiring
day7t ‘a7t mEsict = a{EA} tired 7t atct

® 252 cafst et

@ 1 U= ME E=otzt,

Q@ Lh= 17t e| g2la @

@ Y™ ExL2lo| E= 22 ofZlolSoA SRl

©® XMHs| oMM, 1 HXk= RAU7IE 1 UUCE

> @= ST, LioRl=

= WS EUCt

SATHZA

@ Lk= o=
® J= a2 MdED

> Q= ST, LnXl=
L= W 71| =HtEet 2s 2R,

BMAlE Adolez 239 k=

A

o
Rl

0
Eﬁm
kI
B>
o

}OloF7 51T UL,

SITH=AL

» my bage LIEfLEE IARAL
stolen

OS2 Ju7HHofl HRIE:

SXZH0Z SAIHYOILL BME ARBsk=d),

LIE}}= paintingo| &

» X|ZtsAHsee)=
her= painto| Fxjjo|2z 5Eo| =2
Haict,

Jdid= 1 Xotg =2to|Z2|d Rk

> MeiSAlhad)e SMZAE0Z SARKIE0IL IHEAME AR5

o, skirts =zto|Za|dEl= 20|22 £50| £2 LiEH= 2t

2\t dry-cleaned 7t ®M&siCt

22 Hello Grammar 24

10

11

12

13

14

15

16

EZ|5| YohM, 2= HE ZOI6HK| 2=t

oHet I, O =4I| BYsict,
® 27t 74 SotK Molaks Heg 2 o, 19 M52 =
> ® seeing that: ~2t= HS 2 0 (H2E SYRATER)

1= HIZ S| L ERRIR, HES Lojd 4 QiC

0.
18
I
l

Ch ARz 20t Zoo 2 SiXHEAL HEZ THECH

= ¢2 Z0M7| thzol|, i< Y=sich.

» A )\I»_ AHE#O},_I XX‘lﬂl. x*)ﬂol 7(0.'7'. Eoloi,i XO.I H k%l_}-
L} B340 ARIZH FA| AH|ECH M AlRlo|22, Thaving+at

o| &= FAR0| Z|ofof BiCt,

o
A

AL

-Lis Ot Ul 022 Rak H2 5%

]

.

2|=|== o

=
* J= 20| P77 Elof 2fsh 4~
» - X|Zt=AKhear)?

f 0|1 5344 2xfo=z 2:0{0l somebody

It olEE REs s34

ojnjolzz, callou. callingo| =g

SiCt.

.

AeisAkhave)st ol 584 2302 2xofel his bikes 2

ol 2lst £2lzlis £59| onjo|=22, BEALRl repaired 7t
Q3ict,

@O =0| 27| W20ll, Li= 2%5tX| 2= o[k,

@ o122 Mzio| 7| HR0f, L= =83] AACH

@ Jd= AR 252 XIARH M AACK

@ 1= 22 SFML &0 21, AHS A4

©® ME2| XoIx7] 20, 12 22 A7[of Hs] ML

» beingo|Lt having been2 Azrst 4 Qirt

22 =0| QiU | 20 2= HHLUIE st MES 4 4 QIICt
F&AL as MizF SERAL theres Fojxz! ARRE7| THZ20] A
2¥5IX| P=Ct. F Ho| AH7t Zeag wass beingoz HiEL)

} XK“_I|. E)_._

10| A7t ZOB2, BMEAIR MBI EAIRE0|
ZIQSICH BEHR0|22 SXEA o notS 2L},
RS =1,

b SOHAES LEHS ESI2 With+2E0jH2ALe) Sz, 2xof

2= 2 2 Wt ARSI
0l his dogo| sExoz 12 m2k AE0|E2 SRIEAL 2Lt
®Joang Amfof| QlokM A2E T QUCh

@ HIZ OFUXITH Ji= SAIX| REX| UL,

© 2|&5t= 59t L= Susies
@ U EX| Ot Lis E9E &
> HX0{ not2 Al being 2o =oiot

DHtC,

Zdo|ct.

SiCh w2t It not
being cold ~ 7} Elofof SiCt

® AlZo| 7| W20l R2l= MFEE 20| ZRCh



17 rwith+=={ofyour mouthEAlbeing full), 1202 of7|M=

2Atbeingo| Mzkz|T sgAt fullgt 22 Atefolct,

18~19 » DAL STHEAD AT STt 871 2= 24017t IS
o= HALR] FoIM THECH THRARS 45, SRIEAE SS9 9|

0/ LtERHCE
20 rE= = QlojlM L= 0fF B EAICH 1710] SH5|
= 22 0f=71? 2OUL 2 Qloz S0t 22 oj2azs

SIMEC]

S o |'

El AAR

£ Esoby| st ESarg PHECE O BSak2 o= o Qo B

52
rlo
o
i=]
]
g
[
0
mn
=)
|'III

O=Z ZFE A mjofl=, J70| 2ot 2K, 2| 22X
2t 70| 7+t
> Q

protectingS protectz Hiot sict G= 2|2 29

Z2 ZRo|ck

‘~at7| flEilAl 2t= Qlojel toR

2le &AL wheng A1 2APRO2 gh= HH0ICH

Grammar for NEAT

IS0E4E 2iIxe ¢ o AHZICH 18

| 15K

YA ElofoF SR

Step1 TAHES 018610 RAMES 2SI Z3E 4 UCH EAL
TE2 AL 0IR, 22, U, Roilde S LEHHT

(1) Zi2 ZChr} AHS 10,0002M2] XTI

(2) 242 1 =2 of= sfof EX| BLY,

(3) XHE o MM, 2= 2

(4) am,
> 2AIES 0I83510 20| MBS HA5| .

EHEUCE

BF AUTFUERIM ES SJ0{HFACIT ZSHCE

.

tett,

Check Your Writing Yes

AT

No

=1

N

4

o| LIRS & F25l1 TARILIR?

=
|

12
r

OIS ALESI0 O3S BARILIR?

i

2 re

=
EH
=

2

of

A

i

S HEIULIR?

Chapter 08 | ZSAt

Unit 23 > will, would, shall, should

p- 83

UNIT TEST

A 1would 2should 3torespect

B awill 2would 3 Shall

C 1 Wouldwould) 2shallShall) 3 should
D awill 2Shall 3would
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Unit 24 > can, could, may, might, must

UNIT TEST

p. 85

A 1be
B 1 cannot
C 1 have — has

4 passed — pass
D 1could 2must

2 Could 3have 4 maynot
2 must 3 could(might)

2 can —could 3 may — may not

3may 4 need not
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» perhapst ofet ££g on[ste@ may= HHY & 4= QUC,

4.7 ZAS & e} gick

» don’t have (need) to = need not: ~& =7} gict

Unit 25> used to, had better, would

UNIT TEST

rather, ZSAH+have+at7{2At

p- 87

A 1 better not
B 1todrink —drink 2hear—heard 3 going—go
C 1 must have missed

D 1usedto 2 cannot(can’t) have

2ought 3usedto
2 cannot(can’t) have
made 3 should have listened 4 used to play
3 had better
4 rather
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» used to: ~&hZ Tt

D 1. usedto: ~stz ict
2.cannot have+nH{EAL ~31S 2|7t gict
3.had better+SArIE: ~st= A E7ct

4.would rather ~ than ...: -

I—QE\/IEW TEST

St xt2k2| ~Sh= 20| WAUCH

pp- 88~90

16 26 3 & 4 musthave had 5 used to
6 will be ableto 7 hadto 8@ 9 ® 10
@ 11 @ 12 should have been 13 shouldn’t have
14 ® 15 @ 16 betternot 17 @ 18 @
19 usedto 200

live

come

Grammar for NEAT

Step1 (1) can (2) able to
(4) bettergo  (5) must be

(3) have (need) to

Step 2 oAl E can join, are able to, don’t have to
bring, had better use, It will be
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S 7|CH240 JCt,

LI= Jerry ot Liof7 ARIZS gictkn spAIsic
=Jerry= Lioli| AR S0l Saigict
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@ el FA7HUsI ACk

Q@ Hl7t sl A= YHolch.

©® O] HHAHE Bl LI= IR A= HX| ph= 20| ZAUCH,
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|0

Li= 2 Qi&Est AX| odct. L Eoll H22= Al o WL
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> apriol EREEQl S wet 1 wouldS ¢t

Qal

U7t & o MSSHX| 2l foltt. = Lie & o AS3H0j0k =,

> 3kl Sx| 25 Yof chst S|t RZ+2 Tshould have+air
EALE 0[85H0] LIEHHTE

50| LT £ Zoil otM [Zolct = 282 1 =7 Hojl @K 2

QtofoF =,

> Aol B ofl oSt 3Lt R shouldn’t have+aiAEAL
2 LIEHHCE

A: ®7F LHUZER] ETAS BLHOF SHIS?

B: ot O =e glole,

> ‘~& eIt it = LiR0| XMAs=E don’t have tort 2ct,

A: ZEA| $RE Jah?

B: Zot,

> Let’s ~of| tist Ertej2=2e shall we?olct

> AlHEll|A| S12 L= had bettere] 2a52 had better
notez m35ict You’d=You hade)

U= R 20| TVE BtM=

Sygo|ct,

of =ic},



» shouldn’t = ought not to
18 ®x & =eiA0lR?
© 7Hu| & EAZIR?
Q@ Ltz 147t 2 slS57|S HiRtCh
@ Li= U2 T KU oS 4 eloict,
» so ~ that+xoj+can’t ...: L2 ~aliAf - 4= gict
® J= Hoil Zoll
+ 0| STl BT FAT} UUC
L= oXS 5

Ol&f OfLIXIZE BpAQ| A SRO|LL HEHE HEHSIH

Alat2] 7K #rt.
19

oflH|mEE =2 ch

toolct.

20 e Atsloid 32 A
RARRID REX 22 MRiSo
OIS 1 M2 Qi 2 3042 SORIM 07t RIS UK Firt

sixIet 228 ool stk LIH TV Zafict L= 350l

22 TVE 27 2ric T2 24 uielok sickn Mzisict

> (A) 524 TV glole & £ itk ate ooyt HEsiaz
cannoto| gttt (B) ixtiol= of 01 XISEIX| Q= mriol A
EfLt 522 LiEii=2 used tort gt (O) 24
cf = oloje| shouldzt tct, rather than(~2ct=)at

2010 Bttt

~afo &t
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E
would rather ~ than _g &=5}%| 2

Grammar for NEAT

(1), (2) can: ~&t 4= QcH= be able to) (3)don’t have
(need) to: ~& =e7t gict (4) had better: ~&t= 7i0| 27t (5) 2
st Z=0o| must

Step 2

O[Et2|ot 22| Zx|

chAk mEH 22
BRE: OIE*EIOFREI Hi <271

7Ix_lof g 2 2=
=AlL [Hx—li olgs 25

o= o

<2l= o[gz|o} 22| FMIE HEIZ HFYULICE F7E of Atol Fofet
UELCE o] ZH|0fl OIR A=

SLICH FAFY0| PASIER 0|30 24 M= tHERSE 0l

4 QBLICE Ol olzr2l0l 2212 1S 4 3
7pg mevt o
gol= A &

MM FofstMl2!

ZELICH o|H2[0F 22lE FEE 4 U= WE 7127t 2 AYLIC

> CHUBH 2nje| ZSAIS 0[50 ZAEQ| LIES HYSk= 25 et

26 Hello Grammar 24

Check Your Writing Yes No
O HEHS US| ALEHLIR?
=

Chapter 09 | =S¢l

Unit 26 > +SEe{2f el / AR

UNIT TEST p. 93

A 1 broke the window 2 Your dog was found
3 are served by waiters and waitresses

B 1 been 2 were injured 3 be remembered
4 being

C 1isspoken 2isbeingrepaired 3 was helped

D 1 stolen —was stolen 2 Fx 2% — | have a lot of

books. 3 see — be seen 4 Fx 2% — His son

resembles him.

A > 2EEj= SEefo] 2X0{7t 012 AKED, SAK: TheSAMI

AL HEHZ BRI
1. 22 0] of2! AHof 2lah 7R,

2. 22z AREE oM Hel HE

[
o

4Tt

3. H{0[Efet Ho|ER|AE 1

B 1 am=2zsorw

» 2t=25 2=ef: have (has, had) been +at{=2At

of AU

2.2 AIS0| 7|kt A2 CHEEICH
> 2ZEf: be SAHII{RAL

3. 3= <2lof 2lsH
» 0|2 2SEf: will be+aH2A}

FH5| 7|42 Zolck.

4.7 FS AME|T it

> XIS 2=l beSAMbeing+aiARA

C ooy ~gsict ~Elofxict Y molis $SebeSAH+

ALE5tH, ojnjoil SEA| AIMIE =Saliof Stk

IAZANE

D 1. i xite ofml HAGIM ES2RUCE
> oOlAt ~ESICH ~EOIRICE Y mofl=

AE 2Lk

+EtlbeSAHIIHE

= SAlo|Ck,



3. gl2hkth2 HMFE OlCoME & 4 UCh
ololat ~EBiCh ~EOIXICY U mols SSEibe SAMIE
ADE Lot

v

4. 79| O}SS 119} Sotct

> resembleS $EEE OHS 4 Q= SAlo|C)

Unit 27 > 28 35
UNIT TEST
A 1 What was made by him?

off e +~SEl
P- 95

2 He was called a
computer wizard by them. 3 English is taught
(to) us by him. == We are taught English by him.

B 1sold not —notsold 2 forme — (to) me
3 did the Olympics hold — were the Olympics held
C 1 Was he invited 2 Is this table made 3 were
you born

D 1is,called 2wasmadefor 3 Wasitaccepted

A 1. avpoE 22 2o

b OI2ADL QU 20| £EEl: olPAMbeSAHFOHIZAL

oL mf?

. W= 0] ZHA0IA EX| b=
p HEHZO| SEEY: be%AHnoHﬂ}ﬂ-E-Af
2. PAi= o olsl LioflAl ELiRCE
» sende| ZYSHo7 SSE| Fol= HIPH
= to7} 20 to= M2fo| 7ts3ict
3. x| st=olM SRl NE|=U=71?
> O2AP} QU= R 20| 2EEH: QI2ANDE SANTOHIRAL ~7

ZrE=E0) Yol

C 1,2. p Ut o|550| A=gf: BeSAMZ0{ + THEA} ~?

3. b Q2AP} U= 22| SEEH: O2AH+beSAHF0+ 74

D 1 aseope oz ginwap

ol2Ro| £EEH: QRAH+beSAH+Z0{+ 174

2. Hok= Liof|A| D|XE 2
RSO SSEHC| F012 BIFE 2SO Yo
&= forzt 2ct,

OLS0] AL
» makego| =
3. 347t % oL

> et o|2 20| £FE: BeSAHFO{+2IARAF ~?

Unit 28 > F2|s{o} gt +~SEl

UNIT TEST p. 97

A 1o0ver—overby 2says—issaid 3 by—with
4to—in

B 1with 2togo 3tocross 4tobe

C 1 ltis said, is said to be 2 it was believed, was
believed to be

D 1for 2with 3from

> run over= Stfe] SAME FFelct
2. e FEO=2 0ARICE
» thato| 0]11= BARRC| £ZE): 71504 It0] AFRECH
3.l=
» be satisfied with: ~of gt
4. = 22| 2o

» be interested in: ~of Aol QUct

fl
9'|_|

1 Zafofl 2HEeiTh

=S
S0{2= o 2ol AL?

B 1 a7zl e etz 2Hict
» be crowded with: ~2 24|c}
2. L= 7|0l 22 7K =IUCh
> AliSAle] Sxizimolz AIBEls LA 436 2o
A toFHAZ HHRCE
3.7t g Aus A2 B
> XiZSAlel Sxzim0l2 AIBSls HHSHAE 436 2ol
M tOE™AIZ HFRICE
4. 147} of 3|Afe| EEXl=t SiCt
> SARHO| FOi2 2Ol Fojz ME

SYAIZ HRRCE

C »thato] ol1= BAPEO| 2S¢l 7120 ito] ARREIC}
YA Fo{7t 239| F0i2 MY AL that2 QlofX|n SAk=

toSZAIZ HERIC



1. AHER2 ARZI0| =02t it
2.7 YAl a5 X7t EEsictn URACk
D 1. » bewell-known for: ~2 =t 2ayx|c}

2. » be filled with: ~& 7= xict

3. » be made from: ~2 SLSOIX|CHEIEH H3))

QE\/IEW TEST pp. 98~100

1should bekept 2® 3@ 4® 5@ 6 @ 7
8 was made to stop 9 is said that,
100 112 120

treasure hidden by her 14 were taken care of by

Was, written
is said to be 13 was the
us 15 @ 16 ® 17 @ 18 This room has not been

cleaned 19 ®

Grammar for NEAT
Step 1 (1) has been finished (2) have been found
(3) is being repaired  (4) are being washed

Step 2 ofA| & (1) are being watered by (2) have

been washed by (3) has been solved (4) being
cleaned by
1 u=28s wamol 2osot sict

ZEAMbe+aA=AL ~ (by &

3 4= T AFolM CHRIX] QIRUC
p BM2o| A=E: beESAt+not

4 O olUB=0IME ARIS0| HOJS LI
@ 2 AP Lol 2 7

Q@ = U7} Hi2 S E&0I=S 3k
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o
Hu
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I
ra
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= 4 Qi
5 A 22004 20| LojLtm QU=sf?
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28 Hello Grammar 24
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O|2AH+beE A Z0|+ T HEAL
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> CH2|7t ZMEn e F0|22 MY 56 TbeSAt
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O BaME L?

) Udt o|2 30| A=El: BeSAMH O +IHEAL ~?

J0f|7| SHHE 22|
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A=

SEAIZ HipCE
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Grammar for NEAT
(1) 2= 2HE
(2) 2= ozl i Fkct
(3) 2= H=2 Sl

(4) 24= x1Z M7x|

20

i

St QJCk
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Check Your Writing Yes No
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Chapter 10 | 2At

Unit 29 > SZ2AL FEA}

UNIT TEST p- 103
A 1The 2a 3an 4The
B 1The 2a 3the,the
C1a 2x 3an 4The 5x
D 1an—a 2amilk —milk 3Asun—Thesun
4 Air — The air 5 school — the school
A 1 Hae oS wEH Hatskm Ut

> HIMOIIA RUSH 22 LS wols HEALtheE 2Lt

= 20| /3T, one

| o|nIE LIEf= R aTt £
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» mailman2 EEHA|T very= X202 AFlzoz 25
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3.0| Rk= St AlZHol| 100 OIS Zict,
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Unit 30> ZALS| 2Ix|/ 42t/ H=
UNIT TEST

in this roomolzt= &A1)

2o SHYE|0] USSR ol FEAtthes rt,

AL theS #rt

p. 105

him.

solve. 3 What an amazing st
B 1 -2 5takel/ -2 JH 3t ol2let &
2 .7t B AR S SHARRE/ 701X

C 1such 2difficult, program 3on

D1x 2x 3allthe 4were

A 1 All the students came to the concert to see
2 That was too difficult a problem for me to

4 I’'ve never seen such a beautiful girl in my life.

ory that was!

74 st ot2|
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30 Hello Grammar 24
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3. S LK Stmo| ZojM Zic

» Z0ojAf: on foot

D 1 2= 02 53 /= Hxjolxt ofxlo|ct,
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2. Ok XMojlA HE A2 E FHR

b all2 HEAL ol IS,

4. 32712t 37h= 1 ZAujof| o A=FCE
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B AT} S} B ARRDRIS 4 QUC

PE\/IEW TEST
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Ch too+&EAMHa

oI2S LIEHZT TAIS itat AR

fu

f(E2A7t
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pp- 106~108

16 2@ 3 @ 4 (1) three times a day (2) five

daysaweek 5@ 6 Q

76 8 ® 9 (1) the old

13 (1) @ (2) @ 14 such an amazing

2)Acow 10® 11 @ 12 (1) an—a (2) The both
— Both the
sight 150 16 17©@ 18 @



Grammar for NEAT

Step 1 (1) eat(have) lunch (2) What time (When),
come back (3) study math a week (4) eat(have) a
day

Step 2 04| & (1) eat(have) breakfast / Yes, | do. (2)
What time, go to bed / | get up at six-thirty and go to
bed at ten. (3) exercise a week / Three or four times
a week. (4) drink a day / I drink about a liter of water.

@ O] A2 L] ElFt0|Ct,
@ 1= Mikeo| &olct.
@ 0| MEH2 22|29 MZ2 0|R0]ct,

@ X Exi= Simpson Mol

® L= St20fl CHA AlZte] a~gdo] ot
» honest= Xf202 A[ZSHK[EE hyt 2202 T2 Yoz ARt
sh= to{o|= 2 a7} Of-l ang ARRSICE

DBIll, 2 & =oiE2? » M2 Y1 = 20|22 the

@ 0] Ho| RR= Al oio] LTk, b YRAE SHisIEZ the

@ Tl Stmoll M 745 ol Aldolct » ZMF 2ol the

@ 5t ZF0ofli= 720] Ut »a@n) =one

® Fot= T M0 ZaZICt » KUt Zi0|22 the

(1) » B2™TALl aLt ane ‘~gt ~0Oick o ojn|7t §lesz o2
day ol AK23ICt 3I4E 28t mjofli= once, twice, three
times, four times So=z #r}

(2) » 'UxUof 5Y 0|22, a week o five daysE 2ct

(7)) R2l= 520l & H M2 gttt » ~2 ~0Olct

@ Siofl oft =2l0| ARYTH » = a certain

@ Li= 27t o 26t Afolatn AZIBITH b atelst ShtHALsH

% 22)
B2 AIRIS0] 3120] BARMY sttt b~ ~oict
@ 7h= BB SOk » 55 thE

® 20t= 512 020 OIROIXIX| B9ict » = one
@ Lt 0] 3tme| BE MHSS otrt
@ Y olls HofLt B A=o| uie?

@ Lte| OftHXl= 2ef Tofl ez S0 HCh

7
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9

10

11

12

> 2 01§ ol

= BALE MX| od=Ch
@ 1= B8 220 =75
©® 322 &t sel Ml ) Zolct,

ror

ct.

(27)) L Yol HRE= M eUNZIRACL > SEATIL 4

oF
=4

@ OMHXI= LIe] S8 S8 FE2Xch » M| 29

@ H2E 25 of A OIEALR > M2 OfF BROIK YD U=
22

Q@ Li= =& OFzloll & AlZt Set =22 Stk » B#E0i7
@ 022 L7t O[mIA 5t 2 X & || Ao|=0[Ct » ZME o

6 0IZ42 LH7} &l Foi| At 2o|Ch, b HEAPHO| 44

® Z2 AES 712 M77l2| el 221t (FRAS)
» afeathers ‘z2 21l olal= ojnj2 A, a= the samee| =
olct,
(1) U= OIS0l ZiRsHof Bict,
> the+E8AlLE ‘~8t ARIE 0l2H= 2lojo|ct,
(2) A= |83 =20/t
> EZ fEE= the+9Al, fa@n)+3AL, 248 AR LiE
et
@ LH= 0] 220i1A 0] MS ohgict,

@ Jd= FAl S M2t

> 55 UhEE the+AL, a@N)+EAL, 243 SN Litic,
@ 22| 7152 3 2o F ¢ ARS 2t

® Aol 0 QALKAO| = AlRt0] ARUCH

OEVE SN PN

> MAtollN §5t Zd0|22 Moon — The moon

-

@Lio| B2 HOISRIS X PIFE 4 Tt

» honesto| siAz|7t ZEoz deg|oz a —an
@ L= =3 +210 22 24k
® AIRIO|X} AR B AJZHO| 1 2 of| FAIZHCE
» were —was £= A poet and teacher —A poet and a
teacher& 1o} i,
(1) LK= LHtoll chstol| 71 Alct,

> university= 22 HXI2 A[ZfsH= THO{0[X|2H Lee xf2o

Z AAZ2Z, ano| Ofd a & BERALRZ 220,

(2) 010I= = C} AFTO|IM CERIX| QEQUCH

el el 31



» bothet MaiAl the= &b £ uf
13 () galo orse L ojstta
SSH|moM BEQ| HD

 both=

aHo|ct,

Xﬁ_}AI- 0}0” MEl.

st
L5t

p fas ~as o = 2 aset as Alojof| &

FAEE QX2 BATL 2= FR fas+ESANTANHEAHaAs, Q| Of

ZAILE

0| Ect.
(2) 3= L HEISHK] 25t ARZI0[01A] S AHAIZS Sit,

» such a@n)+SZANHAL = so+E2AMHa@N)+HAE LHELE ~

e

14 = a2 =212 Zus
> 'so+2AMal@n)+Abe such+a@n)+&AHHALE HE

2 Ql=r|, amazinge D2 Y20z AIRGIEZ ang Mok

o

ct.
15 @8t zol=
@ BIS2 MZoIH UZFUof

@ Li= UFU0| 6 ui2

@ 1 Hxk=

0{Z0| ULI? »=0ne

r.?l
rE
1=
=]
pal
i
I
0
v
Il
o
o}

slof BTt » = per
A& 100kme| £x2 2X&iCE » = per
22| 22 5t =oj| 5 A
16 ® 2= 7= Lol siolct,
» A black and white doge ‘22 7| 5t olz| 0|22, are= is

ohtS JFEICE b = per

-

2 dogs= dogz mxof stct = A black and a white

dog= HIHA 2 7K St of2iet 8 7 $t otz 2 ojn|2 THE
Ect,

@ XI= B

Q@ O|A2 Ok ER% HEo|ch

@ LIS ?lol 22 &

® slsol= O 22

17 22| sude 23jo| xjolls oo |2

OO

20| QUct

sl =AICH 1 0j0F7 [= A2t
SAfICE
> Ol PIAIE XS Y Mol aLt ang AZain, CEREE X

e 70|22 MTARl the=

18 2= amms o

A X2, M2

R ME s
2

ARZBIC,
S| ZHIRUC T 2Rt = el =) S04 &

= AR 70| b il YiEfo| = BRiCt 1= Tom

lo

£ 7K1 2X| pUtHE XS LUTE T= BRI XES| g
UAUCE T= AA R0l HYIACE 2= 7HE SR8 AS AU 2ol
> @ £R201 his 0|22 EALZ} A2FE|0f0F SiT),

Grammar for NEAT
Step 2 RuNEETORETS-PNFEIET =S
(2) U= Z Alofl LojLtn ERf2lofl ELI? — L= 6A] 30201 2o{LE 10A]

of &k
(3) L= Yol 2 SESILI? - YY) 3~ 481,

HU? -3, Hol.

S
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(4) U= st20f Yopt LS 22 oAIL? - 128 Hzol 22
CoiSS 25 A

o| ZRE TS, ZIX} Olol| FRIC ZrARRl Mol E5| F2lsHOF BT,

S Ok,

> HAIE tEatod J3o| tEs & H3E

Check Your Writing Yes No
BAE ZZD| ALZoALE H2RILIR?
20 U= 2 ASES & BARILIR?

= =22
ool A 23S SHLIR?

PNy
T OM!

Chapter 11 | At

Unit 31 > BAlel &
UNIT TEST

A 1 water

p. 111

2 park 3chair g4sister

B 1book —books 2cheeses—cheese 3 peoples
—people 4 apeace —peace

C 1are 2are 3has 4have

D 1money 2apples 3 people, family 4 water

A 1. » HEZA - waters SxIHA}
2. b IRHAF - parks A

. > EXQAL - chaire BEHA}

. FAEAL - sister= HEHAL

> FHBARS 4 4 Ol BAIR AR B £ 4 g,

. R2 VER B2F
» family7t 715 714
2.20 &tZ0| §t 7ig 2tofl Uck
b classyt zlatoz MEioLt 20717} QloDE Ha A
3.2E o=
> nationo| Zigixoz MY everys i FZ

FX[ASIC,

H HRlE LEEZ 24 R

_,_
n

=7[7 Ac,

4. 3%
polices 24 22

1 EES ERIC}



D

1. » moneyt 4 4 gi= BA0|OE B4HO= BIS 4 girt,
oloz 4802 BieC),
o £o= =4 FHIsict

BAO|OR BAHOR BIS 4 Ut

2.p apple2 Al 4 Ql= A
3. > people2 ‘A

=3
4. » waters A £ Q=

Unit 32 > SRAIS| £& HA|, BAQ| 2t A
UNIT TEST p- 113
A 1 books 2 maps 3 buses 4 leaves

5 cities 6 children 7 potatoes 8 pianos
9 women 1o feet
B 1cup 2piece x=sheet 3glasses 4 pair

C 1 Tom’s this album — this album of Tom’s
2 Girl’s — Girls’ 3 a my brother’s hat — a hat of

my brother’s 4 the house’s window — the
window of the house 5 The chair’s legs — The
legs of the chair

D 1 Jane’s

2 of mine 3 today’s 4 five minutes’

walk

A

Bt B4

1, 2. > HARL| Fof -s
3.» -SE BLf= L —-es
4.» f2 BUE= o —
5.0 X2ty —yEiz
6. > E72 249
7

8

fe va nx|17 -es

-es

L) 02 BLi= U —-es
.p 02 BLi= Zo| 02| —

9, 10. b =&l 24

odt

o

1. 7O| & T EA ?

;_“

101
» coffee= =2 cup2z Aict,
2. L{olA B0l Bt & FAR.
> papers piece £2 sheetz A,
3.Lk= Y 2R Al ThS ORMCE
> milk glassZ MM, M Zo|22 S48 Mot
4. U= Ofd| Mt Bt ZIE ATt

> WS 0|2 L2 pair2 Act,

1. L= Tome| o] e
A7 HAHOf+ALL

> OIE
04201 CHEICt,

= Z0fBlCh
AL

2.1 &= S22

D

pE\/I EW TEST

> -S2 BLiE =4 BAl| A%
3. 0122 Uf

OtEAEZT|()

rE
I
ro
inl

=2E4o| =xtolct

> OIZARZA:

HAHOF+ARTHEAL

4.0 AWe 1 Fe| H2S 2t

e

p SDAHSO0

10 of=
T o= |_)|\_ : E

AREStC
1. b JaneQ| ARz0|22 'sE &0Ict.
2. b 0|EASZ: HAHOf+ASTHHAL

3. > ARIS LiEl= 2ol ARA
S2'sE AR

3, 4. > AlZE 72l 24 ZAS LIEfHC) 4#19] B2

-S2 BLIDZ OlZAERT|()2t Z9ICt,

pp. 114~16

N —

(6,8 =8

1@ 2® 30 4@ 5 (1) glass of waters —
glasses of water (2) A hope — Hope (3) my — mine
7 piece 8 @ 9 ®@is ® are
are, children 11 Those are, gentlemen
13 mine 14 @ 150

17@® 18 @ 19Q@ 200

10 These

12 Q
16 bought a pair of shoes

6 He, our

Grammar for NEAT

Step 1 (1) many kinds of cookies (2) have much
vitamin E, are good for (3) two slices (pieces) of
pizza, a glass of juice

Step 2 ojA| = joining the baking club, many kinds of

bread, little, having a piece of cake with a glass of milk

> D, © 0 6: 4 gls SHEMN@: A & A= BSHA
> two Floll= A & U= BAR] S0 2fof Sk,

(1) Lol 2 5 =2 ZAIZ0IR?
> waters Al & gl SXBAR 2450| 2 4 glon, glassE

oz glasse glasses7t =/ofof i,

So R4S BHAE 2Y 4
gict,

(3)ak& Lie| 2imgict

HEt s
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10

11

12

13

14

34

> TRt ARAS B MY 4 glOOR 0IFARZA(HAHOf+4F

CHHANO| MACt w2k of CHZ0 482 my7t ot ARTHHA
mineo| Elofof Btct

Z0f xt2lof= FZ(He), ZAL <

LtoflA

—
=&

=Z{ourn)o| =ct.

.j_'—

E1E ot otol o

1=}
ror

7HE AL,

> ENTA, SN

lo

ERE

e LIEtLE 22 EAISH=,

advicet chalke piece
@ Let= 258 Sai Zofl Sofct,
@ L= AollM AkE 2 Di2IE =t

> deert sheep, fish Szt izl B3 2480l Het 2

= olgsict,

ctojo|=2, deersE deerz 1o} i,

@ 29| Foll= & JHel St ek,
@ 352 U2 R MES2 41

2= S0ilM YIS Tl 7I2C,
* 22| 7IE2 ti7iEo|Ct.
- 2| 71E2 25 7|7k 3

> family= ZEHAIZM @l 28 MHE 7l2)7|e2 oy

2, O0IME T8 7HIS 71217182 2482 L0t
0| ofoli= of= 042 ofZlolct,

— 0] O10|E2 OF 042 ofZlo|E0]ct,
» This= These7} |z 0|0 w2} isE are2 HEFo{of &t

=

A

St YAl =49 oloR BEBAL ak oixlw, childs

childrenez dfyofof sict,
X A2 H2 2471 AAto|ct,

» That2 Those7t =z olof| w2t is= are7t S|
x|z

BAS 90|02, HYBA as gentlemang
gentlemen<o& Ho{of Sl

+ J= Lo Yook,

-Kate& J149| oiLjojct.

> S0l A 2EZ ARAD HIZHo]|

0| Hi2 Lto| Zio|ct.

7tS3iCh

» belong to: ~0f &3
@ o|A2 Ho| 7HHoL?
@ 0Ltz W 20|k,

@ Li= OE i< To| Sor3tch

Iet, ~2f Zo|ct

@ o|Zi2 a9l Moot

> A AOME AQZOZ Mot Sict them — their

II

@ T 0] Bt S T 40

o
il
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18 @ maf= o1zt otLizt =oa

20 M & ¢ o &2

@ Lte] ofHixl=
® Sam FHuofl 2

x| ot

o

ML,

ror

XIEE 7HK|1L chelo

> papers M= £tel= piecelt sheets AlRsiH, Zo| 8t &2

st mf= a piece of paper, a sheet of paperz &35t}
16 » apair of +42 ojz= At

17 @ 2= 2o =92z M 2 7x1m Ut

QL=
Q@ Jule 7ol § s FE2FC
@ 4= =0

» money= 2%

1o2E0| JEs MOt

| & AL?
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© 14 oHiREM= AH3X0] OH|ULCE
@ LKz oftholl Ysksta Aot
@ T4 o] EAE 49| Aldknt & oj22Uct
> ARZTt some, any, this, that 52 Li2ts| Mx| 25tz of=
0|88t 0IZARACE HBsH0F 5I2=

1 ax{of Bk,

This dress of hersza}

® 2= AR0j= oI 20| At
19 A H= x12 9 st UL
B: L= 0f RI2 4HIZ SIsHA Z 7H) SRS AT o],
A: L= O 1 2RSS T L7
B: ZAIZH 7ICHd A, U7 AXIE B S0 D2l S LiZ 4

01.
A: Z%b0]. RElE MFE TRE 8101,
> @ sentenceszt Al £ Ql= gilo|=2 a littleo| ofzt a
few7t 2o} Bict.

28t B9 SFLOICL AlRFE2 28 TFE0I

Lt 71ES0 S AlZts 2HCE AT 12A1E RIE, 252 M2 A
ot 7|ASIE OS5 tHREE2 LSHK| ¢4, 51F S Tofl U=t 0f

z
Holl, E2 AHES ARISQ| LI SEES v |2 ZASICE ofE AL
UERS =2 2FZ0F MICIT OAFIT E O ARIER SHGHICH
2 1 A4S0 thel WA Eok
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i
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>
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Grammar for NEAT
SETRID (1) many kinds of: @2 £20| (2) vitamin E= A 4 ¢f
= gAl2 muchz of

2351C} (3) pizzae sliceLt piece= 0[23HA] A

1, juice= glassE o|2afiA Allct,



Step 2

« FH: MY Sot2lol 7Hietkh?

- ¥5: U2 SR ¥ 05|
SR B T B A2 3 524 2]

org, & XILH?
oAl &

20k, IR Pal= w2 SRl WS US|, Wols

m
i=]
)
I
un
2

240tM 22| X|otofl Zof. 7HE 2= Aol53: U=

> TAO| B =AET SUNS M HES X! 0185l0] X Sot
2| 7I12E ERdl= olHYS 2tHsict
Check Your Writing Yes No

BIAfO| Bt - S} 9IS b AISRLIR?
719I2 R Ol Ligo= vanie?
ofioll 21 2348 eHRLIR?

Chapter 12 | igAt

Unit 33 > 2YCHEAL XIAICHEAL

UNIT TEST p. 119
A 1your 2These 3him 4their, ours

B 1She,Her 2His 3Her, them

C 1mine 2hers 3that

D 1 him —his 2 my — mine 3 that —those ==

birds — bird 4 This is — These are £ =
dictionaries —dictionary

0|2 Q] RFEAHLI?
> BAE SAE moll= ARAS £C you e
2. 0|R/E2 Lte| ZOFXIS0|Ct,

» thiso| 2434
3.0 O 21 Aof §ict

r>
40
N
I'|0

OUI’I:f
2 theseo|ct.
> seeo| 2x0{7} Rsict heo| 2xz42 himojct,
4. 3712 22|9| 2x7t otz 252 2xlo|ct,

» problemg #Alsl= 427 theirst 21, not ci2ol=
olnjst= AL

our problemg CHHAL ours7t 2Lt

. 0| ofol= Emmact, Ji4= S5t sho|ch o] =2 ofF 3
tt. » Emmat ofxjo|22 F0{Z sheE &t ARZS herst

Ect,

2. Jl4= HsA0| Qict a9 ol Clarkolct,

> S40| 0|20]1 ARZ0[22 hisE 2L}

[0

3. 79| HELS o) AEsin EoAlLh JUE HRYS ofF ¥
0| AfBict,
» 1ol HErdlol=z herst Tn Bod £ 23 drooz 391

2 2401 themo| 2ct,

C 1.A: 02 4o 2
B: OfL|, 2742 L KL Z9)0]

» my umbrellag cjrlsis L2 AR

AtO|L?

OfL|oF,

HHAF minecz & £
Ak

2. Lk a4 W eSS T, Jde WA auEel HMelHs

(aue] g FALCL

» her telephone numberg cjilsts U2 AQUITEAL
hersz £ 4 qict,

3. OiXte]

» the voiceZ thAlst= tHEAKs thato| &zsIC

Fadl= Aol FA2|(ANECt o FEEc

D 1. 3= ool 713t s At

» family= $Al5lo2 himg hisz bict

2.1 ZBE{= Lto] Zolct

> ‘LI9| 2 0|2k 0|22 mYyE ASIHA mineQ& HRECH,

3.8 ME2

» birds7t 2450|22 X|AHHAIE 243 thoses
= thatol| 27| bird 2 dRct

4. 0|ZS2 W ARHo|Ct,

S Hofzt,

st

» dictionariesst 2450|222 0|2t SAIE These arez
#rt e This iso| 2 dictionaries2 dictionaryz

HizCt

Unit 34 > it, RCHHAL

UNIT TEST p. 121
A 1it 21t 3 myself 4themselves

B 1lt’s 21t 3yourself

C 1 himself 21t’s 3 myself

D 1myself 21t 3it

A 1. 20K= ZOKIE ATt H O%S 0§S ZORHC
b 07t AL ZOIKIZ ThAl

2. 3147} =o| F2{R}Ck= 22 ARHo|Ch



» ftis ~ that ..., 72o= It2 7150{olct. that olsl7t ZIZ=
ofo|ct,
3. & LollAl 317F e 40| ofich Lt RRMOA St et

> =0] 19| 2X0|Z ‘Lt XM S S5k 2 myselfo|ct,

» hasz =o} ¢4 #Zs6t= each7t 2ct

4. Ui 27N AR 200 FES of Fofict

4. NRESS BRI 1 22 SRS it > £ ZEE 2lnlsk= 7| OlLIZE oneO| 2C
» Z0{7} theyo|z2 ‘3£ xHAI'2 themselvesolct,
B 1 U= wzw Mgt Mlofsixigt 22 Al Zofsict
B 1. » 9us Ljepi= bioIE o= ito|ct » shoesZ riAlst= CHZAL ones} 2cf.
2. > 71%0{ itat zIF0] to walk on the ice T220]ct, 2.0/ ME2 OFF1E Z0I5tT CH2 MAE2 £7E Zofsich

» some ~ others ...: OfiH ZHARNES ~ CIZ HARE

ro

3. » help oneself to: ~2 o274 et

3.0l 7t 142 XH|? — 0]Zd0[oF,

C 1. A: 7} Jacko] 222 ales 242 =90 » this one: 0|7
B: Jacko| ExtM 3oy,

» forhimself: 1 2xt glo= C 1. UE 242 oiHiHCh 22hM M RAS BiLt AT,

2. A: M7t ofmL? > 0] L2 SlojHE 24

e ExsiA Jl2l7/= 70| ojjm=

r
f

B: 2im msesy, oneo| i},
> LNE 21 JoDZ HIQIE Fof it 0t 2. %} 8t xt opAley?
3.A: L= TE(OIM SHRLI? > FRO| 9220f= any7t ofLj2t someo| 2cf,
B: S m 571zl 3.148is 24242 B2 solct

» enjoy oneself: Z7|ct b everys BAIS 2Al5HT THEOR MO|X| R3ICH

D 1oexsoezo
» alone = by oneself
2. aH5k= HS if= A2 EQSICt
> 012 MOl tORHADL 71 AR 71F0] itg M1 TIF0E §
Off £C}
3. % AlL?

» one ~ the other ...: (& Z0|A) 5iLt= ~ CH2 SiLp= -

D 1.Johne mopc= 2t Mikes 7E[2 #Ict Suekt Hpoj2aIe

rr

Ant = a8 2F= o7
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= =
= T

> IS 25 oV|E AFSloE F Z ojnlske 2ol allo| 2o,
2.Bob2 Anng 21 Ann

I'|0

Bobg ¢ttt = Bobat Ann2 A
> AlZHS S55h= HIQIA Fof ito] 2ct, 2= o oy

» ‘MZ a2t= olojo| each other7} gict,
3. 1= =0| gict

Unit 35 > BCEAL
UNIT TEST p-123

A 1any 2them 3Each 4one

» noQ| ojojl= not ~ anyo|c}

4.Janext Lindae 17|12 9x| ¢=ct Karlz 9A| 17|12 HX|

e = I8 & 0k £ 17|15 HX| =0t

» OIRE 17|2 HX| 2002 noneo| 2L}
B 10nes 2others 3one

C 1it—one 2any—some 3Every—Each
4 another — the other

PEVIEW TEST pp. 124~126

D 1All 2other 3any 4None

1it 2theother 3®@ 46 5@ 6 @ 7
themselves 81t 9 10Q@ 11@ 12 @ 13 O
14 O 15 @ 16 Each student 17it, to tell 18 it,
her 19 One, another, the other(the third) 20®
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Grammar for NEAT

Step 1 oAl & (1) Each person (2) Nobody(No one)
thinks  (3) One, the other (4) the others

Step 2 ojA| & Each student, opinion, nobody, One,
the other, freedom, The others

* Oxl= =0| B
ZREIE 0l8st= A0l &
QIE F0f it 2Lt

< 7}2x0] itez ZI=X0f to use a computers gh=c}

40| 2ch
s 23iCie %S UUC,
b ooH[Q
LK= 7Hil2i7} 5 o QICh SiLHS 2At0| T Ch2 BiLke 2Rolc

» one ~ the other ...: slLt= ~ C}2 siLt=
T XIO| C|R 7HA2 Rt 7HZECH O HIMCH

» the price2 thilst= chEAb= thato|ch
ok Hodat,

» youof chst 2fo]=2 yourselfLt yourselvesyt 2ct help

SAS o 91 o™

oneself: o}271 Lt
A: o= z2
B: 5I9F Zoz ZNQ

22 AsIL?

» flowersE chilsk= 22 oneso|ct,
@ Lk= L Xjlo] ot
©@Sallys 04 AAZ O IES EQCE

Q@ IE2 05 AARE ARGHE HS HIY0F SiCt,
@ J= XM FEIE 2 20

RZA{ O]

® ufi= 7420f BIF! 11 XIS Hi2k=D 9t

Z0f, 20|, 2oi2

23t 4 Ut @ Hefst LKl 25
AIBE! A7 S0l A2rat 4 gict

THE[Ofl M RHO|U=

> MFEAE xRk 2 SEY ol Y

HRIALL SAl| EX0i=
INFL=3--L (s}
» have a good time
Judet thets Lire
» to talk with her2 chAlst= 7101 ito| 2Ct,
@ Lt= 27t gict,

> HEXE0|22 some0| OL|2t anyE Mof 3tct,
@ 4= LA.of ot= -0 QILI?
@ L7t =0| UctH HolAl &
@ 19| EHofle Z
® Ltz =0| of=ct & & 0 2 2
10 ®A: 22 290/L?

B: 2220/ok
@ A: M7t oEL?

B: Lt= Hl2= ol ot

= enjoy oneself: £7|c}

= X2 gX| ik

LHE Aolct
ZOIX| & of2|7t Qlct.

USTIN?

14
15
16
17

18
19

20

> Fel HME Hats &
@ A:
B: stz glod,
@ A: XI= & opaae?

1o
glzl
o
o
jiml

=0| ZofLt AL?
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3
)
=)
Rl
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jinl
i
rir
o
>0
@D
=
wn
=)
im}

IS S ME2 2F, LA = J2=X] 24,

b - 2N HAIE 2 2D E OE SIS 2 ool anothers At

ottt / < FeliRl & & UF 5 Hest LIHXIE 2 mol=
the others= Alg35ict,
@ Ltz 25 AR OFR& QiCt MZI5ict
» nobodyol| 29| ojn|7t Qlooz isn’tE is2 HiYo} Bt
Q ZE ME2 RLIES 7IX|T Lk
»everye L2 2= BAR SAks BH&0] Z0{0F st22
player has his uniformo| =jojof it
@ 0| Hi2 XML B Mt
@ 2ROl NHES M2E =Tt
» ‘M2 2t= oln|2= one anotherLt each otherz Afgsict.
® E7|9| = 7He| A=t o Zct
> 0| LI earsE Hrooa that2 those 7t £lofof 5t
> with Ch20l 2= 2 =xojo|=2 =xZ0t JKsSICt hise o
[Z4o|ct,
» eachs= o FZ6t22 likesyt 2Lt

> 242F 0|2t= £2 71Xl= each= B4 FZ5iCH

» | think to tell a lie wrong.olzt= 5841 22t0|A 20121 to

tella lieE 2 &7|7 71=2X0] itS AKRSH ZA0|C}
P toi| Lt EXGH 70|22 itez gu TH0fA & her2 LIEFHCE

L= 2uit7H Ml F QUCE &

0f

27010l THiE B g2

olAto|H, LIHX]|

> A2 MHE mjol=, One ~ another ... the other(the

St AIS0l| et B2 0[0p7 |7t QUTL BARE, ofALE, 12|11 0fo|

S2 W= 02 SZet YSS Bich o AIRS2 7152 F617| 2l
SER= HHOZ FOIS0] Zich £ o AI—SE2 XSS 74517 | 26l

2lEet SE MR | Bict. £
WZEH=T1? HtZ 3=50[ 7150 o
SOIl THEt ARHO| 7| hZofl AShE ARES #

0] 2=0| ol2{gt Y= shA| ZHECH
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I:I
ro
_>,:
§
inl
Ho
o
mn
rlo
[N

Ct =& 942717

LS



> oA F othersz LIEpHCE

Others people — Others

UsE someoR, E i Yss

Grammar for NEAT
(1) each:
(No one): OFR=(sRo] ojn|7} mBiElof OO HHo{et B M0|X| o4
Z0llM) lLHE ~ CIZ BiLis - (4)

~ (LtX] Fe) o

zizfo|(0]5t HAIRH EAK= B4 £(3) (2) nobody

=r}) (3) one ~ the other...: (&
of 252
=, DIl ghojl A A

Bl B 3030| SHSO| Itk 2i2te] shyse

some ~ the others...:

4=
S IN

Rile| olAS Hofdict ST, 7H50| 71 SQ5ICH Lo A2 e
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Chapter 13 | &EAtet 2At

Unit 36 > &AL
UNIT TEST

p. 129

A 11t’s very hot milk.

2 Nancy is a very thoughtful

doctor. 3 This is a very useful dictionary.

B 1easy 2strange 3sleeping 4 healthy

C 1 your room full of trash 2 this beautiful red
rose 3 something wrong with this report 4 is

afraid of snakes

D 1present 2alone 3young,the

A

1. D2 Ui A2 270|CH

> verye 24t hotg 1 =1 hot2 @At milks R Zcf,
2.Nancy&= o4 Ald 22 2Ato|ct,

> TEAMHSANZFZARHSEAL L] Of0f OIS
3. 0|H2 Ui RES AFHolCt,

pvery= g8Ab usefulg M Z1 usefule HAt

dictionarys 30 =},
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B

C 138

D

Unit 37 > 25 23S, $4

» sound+SE2AL ~5 Sz|ct

3. X2 Q= o712 THRK| Of2t,

> asleepe MamoZOt MO|= HHE.

= SXH2ATL 2foF St
.UE 25 7ZE 22t
» look+&igAk ~51A| =olct

AT BAL FHOIIA LBt

Alo|2&2 babyzs 2

2. KINESAHAY - HEIHBANAZESANEALS| 0f20| Elofor

o

=

3.something/nothing/anything+sigAt

4.be afraid of: ~2 =a{Ysict

1. presents shy

12

2.alone HO{Z MOl Ma&X™ 89| 3

3.the+3gA} = 24 HEHA}

UNIT TEST

t

el 2ks o2 MLt

p. 131

A 1little 2much 3alittle 4 Few

B 1few—afew 2many butterare —much butteris
3 hundreds — hundred 4 some — any

C 1 forty 2 one thousand seven hundred (and)

thirteen

(and) twenty-nine thousand four hundred (and) ten
D 1 eighteen fifty-nine 2 two-fifths 3 Henry the
fifth 4 August (the) twentieth / the twentieth of

3 twelfth 4 ten million three hundred

A

August

1. phope= M 4 gl= FAjo|T, 2UA 79| Q=" 9| 2njo|22
littleg 2,

2. pfurnitures A 4 o= ASHHAIRZ ‘UL’ 0|2t= 9o|E

muchZ 2ct

3. ptime2 A 4 Ql= HAlo|D, 2uA k7t Q= o] ojnjo|22
a littleg #&ct,
4. > passengeres A £ QL= FAO|D, 2A 79| gi=" 9| ojn|

olz2 fews #ct,



2. WHRIT0f| tHE{7} Dokt QIL|?
>butters 4 4 gl= SHIYA0|ZZ muchZ AS3tH, B
FZsict.
3. 2ol 200H9| AIS0]| Ck
» 2002 two hundred 2 LtEtHL}
4.2217F A7|0ll 22 mioll= 2410] 2| Lot UX| St

> hardly(7{e] ~ei=)2 Hop BRI 2HRM= anys

Algsict

1. » 1491 fourteenzt E=5tX| ook St
4.0 Nl X2 ZojM 2=l z+ xtzlofl million, thousands £

2lct,

1. > HEE T Ri2bY Foj gt
2.p 240 Z2 BAl JHE, BB A4 sl 2APH2 014
FoL 20| -s5 2ol

4.0 EWE M2 QU|= Sl 7|2 ¢V Bith

Unit 38 > At

UNIT TEST P- 133

A 1well 2fast 3carefully 4 slowly

B 1is vbusy 2family vwent 3canvstay 4lt
vV rains

C 1already 2yet 3nearly 4 much

D 1early 2high 3lately 4 hardly

> BAIE SAISH HBAE SAE HAISHs BAE HITE 2X0lc

1. J= 8% £¥ d0lth = 2= £ES ZRih

» goode| EAt= wellolct,

2.Jane W2 skEXlo|ct = Jane2 Wz Hi2Ct
» fast= AR HA 22 SHEfolCt

3. R2l= o A2 TARMOICE = R2l= 2| A ZARIC
> S&At carefulol -lyS 20|H 2APt EICk

4. J= L2 430t = J= LA Ysict

> E2At slowol -lyE 20|H £A} St

B

> BIZEALL BHBARS beSAILE ZSAL I, YHHSAL Qofl MQlct
1. Lo| o{SMS Honlct St Hituct

2.22| 7152 iyl YeUnict SAS Zict

3. LH= L2 mlEsiM 7iof Qg 47t @itk

4. 01322 4ol H|7} Xj= Li2ICE

C 1. Ut =28 of 2UE ofo| Lk Fi%C,

> 24 ‘olo], A 2| alreadyE #ct

2. L{= J22E 0F! HX|Z HHK| 23iC)
> EXD0IA OFE | ojn|2 yetS &Lt

3. L7} DiRRfe2 HElE X2 X| 72| = o] =of Zich
> ‘7ol 2t= oloje| nearlyZE £t

4. 3= MBS0| 51 RUCt I HP Lol Her)

> o[ 9| ojnjel muchZ #ct,

D 1. early: 2
2. highe gAjet 2Ale| et 2t
3. lately: zZ0j| / late: =7
4. hardly: 719 ~Qi=
’—QEVIEV\/ TEST pp. 134~136

1

imany 2Q® 3@ 4@ 50 66 7@ 80Q
9 @ 10 Two years is long enough to wait for somebody.
11 | have never been to New Zealand. 12 @ 13 @
14 @ 15 angry 16 enough 17 (1) alive — living
(2) highly — high 18 are you always biting 19
There is nothing interesting 20 ®

Grammar for NEAT

Step 1 (1) Winter, season for, poor (2) the
thirteenth, October (3) next to my house

Step 2 ojA| g sick and poor, fifteenth, September,
near the company, be easy, very helpful to everyone
at the hospital

A: L= 5120 22 2 To|LE ORAILI?
B: chi
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Grammar for NEAT

GEAD (1) »the+sigat—

24 HEHAL(3) pnext to: ~ Hojl



Step 2 X%

=10] x|
[ =E zs0l

A KHA=AL

~ SUAL: 98 152U(24AIZH

— & BAF 20| Ace HRI0IA

— 8 0T JHHEH ARYE 57
+ 2742 022 Z0IR[3t 2|0 22 1 Wl mE
AlziolZ| oh: =20 = Zolc,
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2al= 98 1520 Ace HR0lM Ot 7HASH ARISS =2 o -
!

2 2IAF A0l USLICHL 2= 5IF S AIHESAE & AL

2LIC,

1712 #iK| QIKIE R2lo] £22 1 Welo] BE Aol i =20] 2
HRULICE B2 ARRI0| S2l0] S| BAIS 7PHFAIZ BRILICE

BIAIXIQ) LB 22
o} HAIS R3] ARRBICY,

2HSIEHA LHEnE 2ol L2 8
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Check Your Writing
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HIAIXIS| LH8S YUSH EHFILIR?

Of0l| S| 2TS AEHLUR?

Yes No

Chapter 14 | Hlx 7=

Unit 39 > H|u, B5S 0|8 &

UNIT TEST pP- 139

A 1 worse —worst 2 more careful — most careful

3 thinner — thinnest 4 more expensive — most

expensive 5 happier —happiest 6 less — least

B 1astallas 2asheavyas 3asmuch,as
C 1 as(so) old as 2 cannot(can’t) play, well as
3 could 4 as(so) beautiful as

D 1notas(so),as 2threetimes,long 3 good,as

A 1, 6. bad(illet littleo] HITZS ez} HiRl= =74l Bisfo|C}

2, 4. carefulxd -fulz ZLt= o], expensivex{z 323 0|

Ao| Ctoj= -er, -estE £0[X| &1 "more+¥Z, most+

=
|:|J9

FEZ HSfSICE

3.thing} Zo| TEStExiS 02 BliE A= Xi22

ot
rE

o M1 -er, -estE £9Ic},
5.happyet Zo| xig+y,2 BLte Hols yE i2 JRA|T -er,
-estz goirt,

B 1. ot d149) oS Mnta 7|7t Ak
b~ SFORKE SSHIWE LIEM mjols Tas+eE+as,
2 LIERICH 7|2 HlmsHs 240|202 H2AK tallg AKgsict,
2. Li= Lto] LMD 227} LiZICt
> SRUIE HlwSHE 20|22 HEAKE heavyE ALESICE
3. Li Ljoka Be =2 Jixjm itk
P ES M 4 gl BAIZE fas+F+as, Ao HEA

C rus

» fas+2g+as 2|

JHEC o of2|ct, = L JH2E Lo| SX| R4
SsHlu 70| FHR0| =H ~gF -5t
X| Rt olzk= ESH|w 2F0| ok
2. 3= UECH Oof=E o & & 4 th= U= J4TE 1jof=E
R|X| Reich,
> 07} HIHASEZ Tas+eg+as o 2HE0| =l0of sh=C],

SAF cano| A= 20|22 cannotel SEefrt =ict

better= goodn} welle| H@ZO0|X[Et o7 [olM= SAIR!
playE A5l 2Ato] Setol wello| Zestct
3. Li= Aol Sxkel7| 2lah 7HsEt o Ealsl S2RICE

» as+Z+as possible = as+Z+as+Fo{+can: 7Ks3t 5t
~5H
4.7 {42 LI Of OFSECE = L= 1 K{y2tZ OFSEX| 4ct

» more beautiful2 beautifule| vjuz

D 1. » notaso)+¥Z+as: ~at2 - 51K 25t
2. p Hig=+as+&Z+as: = ~5t
3. > not as(s0) +Z+as: ~or2 ---5kk| 25t
Unit 40 > H|2&S 0|8t &5
UNIT TEST p. 141
A 1hotter 2smart 3taller 4 expensive
B 1 very — even(much/far/still/a lot) 2 cold —

colder 3 faster —fast 4 the best —better

C 1doesn’t, well, less well 2 not, as, less careful

D 1less busythan 2The more 3 more handsome

A 1. 250] ofHE=CH BM O HCt
»thanez 2o} vluZo| ZRslch E3ta lote HuZe 44
it
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I'l
i
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2. Jl= Y7t M2ieh= ARHE EESHK| ot
» "as ~ as, o] £M2Ql "ot so ~ as, Alo|ofl= SHEAte| ¥
=0| 2ct,
3. LIQ| OfXi= L=t # of 7|7F IAIC
»thanoz Hot HlmZo| Lesich £t muchs Hnzge 4
Alstot,
4. L1Q] B 12| ZECH & HIMTE
SH|m= Mless+eiZ+than, o SEjoct less X7+ Hlm
20|22 Ci30l= 230| 2Ct

2. 227t 912 22U SR

NECELTE

» the+d|mg, the+t|mz: ~61H &42 XA o --5iCt

>

3. 0= 19| 2SR 2 E=ct
ESH|w= Ness+F+than, o2 LiEfHCY,
4. 0| ZRE{Q} M7 F0| 0= 20| of E271?
> S 3 5ILIS Mefsls MefolmSol= HmE, A or B,o| Sl

7 2t

C 1. Marye Jenny=rt Holgzle

.1
= Jenny= Marygt= Hpo|gzle

Jenny= Mary=ct vo|g2lg 2 & HEsict
» ISH|DE LI 282 fess+¥Z+than,olLt Mot as

(50) +¥Z+as,z2 st AHk=EA0|22 don’t, doesn’t

D 1. »pgsHm 282 Ness+¥z+than, o2 m3sict Mot as

—_

S0) ~ as,o| Y= 1 ook ZX[2E HIZe] 7} SIX| 430
FOIBICE

2. pthe+d|mZ, the+t|mg: ~61H 42 & o -sict

3. > TO|2AHH|mE, A or B,o| AMefo|220|H, handsomeg|

H|@Z2 more handsomeolct,

42 Hello Grammar &4

Unit 41 > 2[&E3 0|88 &

UNIT TEST p. 143

A 1 more precious 2 largest 3 youngest

B 1 richer —richest 2 the brightest — brighter

C 1 Nothing, important than / Nothing, important as

D 1 one of the 2 most exciting movie 3 than any

4 best

3 most Atx| 4 longest — the longest

/ than any other 2 No, kinder than / No, kind as
/ than any other

other man

2. 422 20N 715 2 =AlolCt,
» thei= &A1 ol moict,

3.t 92| 715 T7| S0IM 74 of2ict,
»the= ZAZ Yol Mol

4. 71742 BIR0IM DS 1 B2 Hsl S0 siLtolct,

» one of the+Z|NZ+ELTAL: T1&E ~Ft -5 F9| 5Lt

1. J= MIAIA 71 295t AlRE 2| 5t Ho|ot
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»thano| Mooz vimZo| 2fof s,
3.Jimmys 3 HlojlA] 7FEE a| i)
> 2ol fasto| zAZS fastesto|z2 o mostyt 2R
fCt S HAte] XAF0|22 the g M2Fst 4 Qlrt,
2 MIAoflAM 7HEr 71 Zolct,

3
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> Zldgel on|g LEi= 28

1
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he+zAZ+of(in)

=0+t|Z2+than
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= H|lmZ+than any other+&tAt
1. M2 f2loiA 7+ £28 2ol

2.Judy 22| ghoflM 7he ZIEst Aldolct,

1. pone of the+Z|AZ+2LTAL 718 ~5t -5 Z9| 5iLt
2. pexcitingo| zlAZ SEfl= most excitingo|H, oll= Sat
thegE £t



3. b ZAZ = tlmZ+than any other+Et:EHAE T2 o ~&

ch o --sict

QEVIEV\/ TEST pp. 144~146

1@ 2 ® 3 (1) biggest (2) fast (3) worse 4 less
difficult 5@ 6 @ 7 ® 8 twice as large as
9 (1) more and more (2) the most beautiful girls (3)
aslcould 10@ 11 Q® 12 @ 13® 14 The older
| get, the happier | am. 15 ® 16 @ 17 (1) more

thick —the thickest (2) and — or 18 ®

Grammar for NEAT
Step 1 (1) The faster
least

(2) more pleasant (3) the
(4) twice as heavy
Step 2 oiA| £ is much greater, the higher life expectancy
at birth is, the highest, twice as high as that

ly2 Bls BAS & earlys mMeldt 2AS2

most+eiZ,02 HlnIat HAZS oHert

more+ &3,
@ quickly — more quickly — most quickly
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Grammar for NEAT

BED (1) the+t|mZ, the+t|mz: ~5i0
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Check Your Writing
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44 Hello Grammar 4

Chapter 15 | 27At

Unit 42 > ZAILHIBALS] I/ EF7
UNIT TEST p. 149
A 1who 2which 3whose
B 11 know the boy who (that) sings very well. 2
Mina is the girl whose father is a scientist. 3 He

bought a book which that) was full of interesting
stories. 4 This is the house which(that) my
uncle lives in. &= This is the house in which my
uncle lives.
C a1 whothat)

D 1 oj27f atatol AES

2 whose 3 whichthat)
2 L= Oi=0f Als 2727t
OHS0{ A X[0KE 21 Uk

4 whose
Holzt

St Utk 3 Jld= Habt 2

A

B

C

1. a4 2207 FoiE 7=

> 37, ALi0] Mt

Rl AAolct

2. 0|0] 4l Hofzt HollAl A F=41 FHO|Lf?
> =X AZ0| MI;AL

3.Jane2
>

Hot7t Lo AERL AlH0|C,

o
497

o
ENG
=

Z74 27cHAt who (that) 2 R

ofCt

1. L= 2iE i Eohe of
» the boy7t MaiAl he —
OHX[7} TFStRIRI

» the girlo| MaiAt her — AQA

P

2.0L= ESE (g

A A whose 2 I

.= O|Ql= olok7 |7t 7HSst

M2 5t

»a booko| MaiAL it — =74 BAchEAL which (that)2 uF

=7
T=
A

0|_T£ (=] A

22 22| ME0| A1 7|

Zojct,

X7

===

»the houserst MaAL the house —

which (that)Z b1

prd
=)

1. »-the girlo| M&Afo|, ofst ol Foi7t glemz =2
At who (that) 7+ tof 3ot

2. pbooko| MaiAo|T, ‘o] X[ 2=

82 BACHHAL whose 7t 2lof Sict,

L=bS|

="

7t glenz 22Xz pAtiHAL which (that) 7t efof St

3. > watchz} MaiAto| 1, 0[5t oA Foiet SAHs UKIPH

»a girlOI AMSHANO|D, ‘TILH2] OMHA| 2h= 2|o|7} Elofof G2
27 Z7AHHA whose st Qof Bict

BACHEAL

o

olo|7t E|0{of FtE=Z A



MBAE 4l5k= 2[0|7t =lofot

Unit 43 > #AcHHAL that, what

UNIT TEST p. 151

A 1that 2that 3what g4that

B 1 what — that 2 that —what 3 which — that
4 in that — in which =& in that he lives — (that

which)) he lives in

C 1= getn
D 1that

LRHL? 2 0|d0] 7t OfF| LHAI = Zio|ct.

2what 3 What 4 that

A

1. O W X7 2 74 717L 2 AFo|ct
> ARZO| MEAlO|T MEA} ol EMZ0| UB=E HACHHAL
that
2.0JZd2 7t LiolA| & Zat 52
> AF20| MaAlo|z MEA} Aol the sameo| o=z HA|CY
HAf that

=2 AlAoIct,

3.u= st et s

o

2 glct
> MEHAIS ZElSH= BHACHEAL what
4. 0|240] LH7} Of= F=tolct,
> MaiAt allo|22 ZAcHAL that
1. O 0] stwof chli= 7he Falgh Aldolck
> EAE SEAPL ooz cHEAL that
2.4 oLl U= He LiofAl 2o F.,
> MEATL gloaE MEALE ZElsl=
t 7HE ozt
> MEAL TARHEE,0(22 BACiZAL that
4.0| Zo| 27} AK= Tolct,

ZACHEAL what

3. SHEOIM 2 U A

> ZACHBAL thato] FRIAtS] Sxojz MQl A0 XA
that ol 2 4 gich MXIAE HZ2 27|7Lt thatg which
2 HRECE FXADEEIZ 718 2AHAS d2ret a2 QI
1. » Q|2CHAL what: 29
2. p ZACHEAL what: ~&t= Zi(= the thing that (which))

MEiAL allo]z22 ZAiHAL that

1SIAIE EEISIHA HO{Z MQ1 AL what
IHAIS ZEI5IHA 0|2 MO BAICHYAL what
MeliAfL -thingo|22 ZcHAL that

=

>

r

>

r

>
>
>
>

 w N

Unit 44 > SACHHAR| S / 4=t
UNIT TEST p- 153
A 1 JdofiAlE QMQl 2M7H £ Qlch 2 JdoiAlE It =
el 252 2JAtolct,
B 1 and it 2 for(because) she 3 but,it 4 and
they

C 1which 2whois 3 whichwas
D 1 who(that) is 2 who(that) is
was

4 that
3 which (that)

A

B

C

D

1. BACKBALS] RIS St BACIBASRE] sAfstof ool MatAt
2 SAfict
2. PACBAIS] ASE B UOINRE] AT SHABIC

1. O M XS A=l 2% o stk

> EAEALR] ALX TESAHIIEALZ BB & Usd],
O7IME ool and2 HZEH tiZ¥AkE ito]
=and it)

2.25 AIES

282
=ict (which

Janeg Zofsk=d|, 47t oflsn REE| HE
O|ct,
> ZAHEAES] LHB2 2E AIRE0| Janeg £0l5k= 0/R0]
o=z mMaAt forLt because= A3t
3. 2= JdoA 71 BXIE MXIRE Jds £0] EX|E o ElE
=al)
> 71 WX MX|PH EX|E o1 SHEYCHE LIR0|2E B
42 butoz HAECt a2|m but ofst 2X0iA it(= the
letter)2 2=0jo|ct,
£ e, 382 25 F=0f
PSP

4. L= EHo| s
HESHH, tHEA

3E5tn Uk
» olojAt M&At= and ot = two daughters

£ gh= theyst 2ct

..‘
o
N
rlo
]
i
N
ra
mn

2 YK 22| OXICE

3. 304 Zojl Xlofz! 92| stims Mel7} o4i5| e,

4. L= Mike7} 7R3 Qhs 200t 222 A Atct,

1, 4. > SHZH PAUBAS MRrE 4 9l
Al

2, 3.» 77 BACEAHDe

> HIZloll= T3 BAICIZAHbe SAL I S017HH, M2fo] THSSICt,
1, 2. b MBAL ARZIO|T 391E b4 SxHo|=2 who (that) is
3. MA} AL20|T 3213 E4 3ijo|=2 which (that) was

et s

45



Unit 45 > ZARAL
UNIT TEST

p- 155

A 1where 2when 3why 4how

B 1where 2when

C 1 at M2t == where — whichthat)

3why 4how

when — which 3 which — why
how & sfjgt & = how — in which (that)

D 1where why 3 when

A »olst =o| T 23 AEgl0| AEEIDR TARAR}
1. OR2 L7 AT A FAolct
» the place7t MaiAIRl A=A where
2. LH= Lf OKS0] Efofct S 7Btk
»the dayst MaiAll TAILAF when
3. U JuE7t 21 U= 0IRE O?
» the reasono| MaALQl BAEAL why
4. H7H OJEA BHM T AS LR Liol|H| 2

EAEA how

Ul 3.
> UHS LIEH=

B 1. Lt= 23| ofHri7t UstAl= ARAIS gt

Fals UEUCL

2A in the officeE iilste HAE
where

2. {52 27t shHol & 4

» 2AE in this seasong ChAlsk= AlZE

U= AEolTt,

mjo

when
3. L= 27t Mt 01RE Z27ct

= for the reasong chilsk= 0|

]

why

4.0|0] 7t Z= HAolct,

LtEtE=

LtEt=

23,

EARAL

BASEA

LIEHL= 2HAISRAL

> EAT in this wayg hilste WS LIEHHE 2RAt

how7} 20|, howet M3AL the ways £ & SiLint #of,

» where= HMx|At atg Zglstn
2.4z 7[Rt Mt AlZES ORLf?

»wheng xx|Al atg Z&hsin
3.740| a7t sitE o|Rolct,

P> 0ISE LiEtL= BARA why 7} =Esict
4. L= 17t Yoke WAlS Z0f6HA| =Lt
» the wayet hows= &7 & 4 Qict

D » usikz SAH= BN =2, olst Ho|

46 Hello Grammar 4

. OIR2 U7t M Z0feh= HHR7E HERE SHo|oh,

Qict (where = at which)

oict (when = at which)

HHEIo R 2AIS

At 2Lt
1. b AAO| BEAF where
2. b 0|R0] ZHAIEAF why

3. b AlZte] ZAEAL when

Unit 46 > S&i2AAL

UNIT TEST p- 157

A 1 Whoever 2 whichever 3 whatever
4 whomever

B 1 whomever 2 whatever 3 whoever
4 Whoever

C 1 Whoever 2 whatever 3 whenever
4 wherever

D 14t 243 i AREX| LIS Holele St
A2 A2 0= A0|E Z2t2t,
TEX| LIt Hord A

=
Li= L8 SA 4 gict

2 U7} 74X
3 Hi7} 2LuXt she Al
do|ct, 4 ulZh LA

FAE EOH el

P

A 1. 34s 2 AR SEX| J4E AT Al XIE 22
panyone whos ‘~8t =7Ex[ 9| ojn|2 whoeverz HiZ
29I}
2. 4l7h 7K 42 22 0= ZOIEX| MEtshat,
»any one that2 ‘~&t of= Zi0|=x[ 2| ojn|2 whichever
2 HEZ 4k
3. LI HollAl 22 22 FA0IEX| & Ho|ct,

»anything that
HEE 2= QU

4. U7} Ok= S=70IAIE Lis O AME LSIX| 248 Zolct,

» anyone whomg ‘~&t =

Z HE 5

2 ‘3t 9o
2

L=HAIEXS 2| 2joj2 whomever

ALk,

B 1. ut 3okl A2 SRE R it
't x| 2k ojn|z likeo] 2x| A3l Sl =X
L= 22 U0| UYOLIE 2443 X|7|3Ct,

o| ojn|2 ZF0f ABS H= F20| 2},
AROAIE oA

o218 si= 22| 2ot

o] =2ct.

OI=XRT

rP.D
40

rr
min

1 N2 1 o[op7|E el FUCE

|'0|‘

FETEXN 2 2nj2 F0f
A 2= M2 =7E PEE 52
~5t = EX[ 9] ojn|2 F0f HE

Al

Zolct,

>
2.
b~
3.7
b~
4.
> st =

o r”

230] 2ct,

C 1 oiH 2 Alge STEX| 713 X tES WS Zolct
> FREXKEZD



» MaAZ} ooz what2 £ 4 gict what — that (which)
® L= M20IM 1 2|, 22 st=2olM 7FE 2 ZAlolCt,
> AL 20| BAchEAL which

5 auE= ofs0l Kt oi&viel ofxfolck

» MliAb @ womane g 2xto| A9 herot E0lo|ct a2

2.3 st 212 RAOIEX Btk > RAOIEX]

w
0
N
ron
N
moll
2

HIEX| T2fsH2t » HAHEX

4.010IS2 APt gl= X2 OCIMEX] = AoICh > OCIMEX]

D 1. whenever: ~& mj= QIHIEX]
2 ARZ B PA(Whose)Z MM T 2XS SIZSIC
6 722 a7t AYIE B Z 4 U= Aol

»at that timeg chilst= 2IRAL wheng 08510 & 232

2.whichever: 0| Z{0|=x|
3.whomever: FREX(S )

4.whatever: 22 ~3lE (Y2E)

7 »aproblemg $Alsk= BAARO| Sol Qo shel|, S o
AL whichs Meko| 7S5t
8 (57]) Mt Qlofl ZIRIT QU= S LiollA| 20| & > BAHHAL

@ U Xz # st UALL? » AZTHHAL

I—QEVIEW TEST pp. 158~160

1 which 2 who 3 the cover of which 4 ®
5 whose 6 when 7 There’s a problem you don’t
understand. 8@ 91 10® 11Q 12@
13 Whoever 14 what 15 6 16 whatever
17 Whoever 18 @ 19D 20®

@ U= 22 22 74 S01ILI? b 2HBA}

® 27} et 22 FIAO0| ORLITE b EAICHZIA}

@ Lt= 2912 SIX| EAISt 4= Gt b QISLHAL

® 27{0] 2ARUX| Lt s = 4= ULI? b SIRCHHAL
Q @ L= It wsks WAl S0kt

> BHIEA hows M3iAL the wayQt 20| £ 4 gict

Grammar for NEAT
Step 1 (1) what (2) where (3) which (4)

Whatever (5) who @ O 22| oI} ApAK= ROl

@ U= U7t U2 A TS R
@ LE= P2t EHofLt 22 7[of3Hct,
® Lt= 17t 9f 37} x| 22C,

10 - w7t 12 Zap) & ofn 22 wst S

« dlde AL GoixT, 2X0| REE 7 HSACL

Step 2 ojA| = what looks, setting up a tent, where,
preparing dinner, which, whatever you eat, who are
playing

1 -oe 1 Avs0| i FAol,
- Ltz §t 0R20fl 240, OX2 ZRI7t OISV I= [Ysich «Jim Hamilton2 S3lg M=d|, 22| 7420l Mk
»in the placeoiA the place2 gH= Z7CHEA} which7t =

it o47|1A in whichs ZAEAL where ot v £ 4 QT

o 2R MAE MBAIR SHe ALK 8YOR A
/ Ad#Apta villageo|m BN 8Ho2 & 4 QU= 2AIHBAL
= whicholct. - ARZI0| M3AO[T Writeso] Z0f S sl 7 BAHHAL
7} 2ok BH=m|, HSE SHol22 BANEAF who ot Lttt
11 » =AES U= 225AF where Qo 2t ojpjo] AsiAl the

place7} 2 Molis MBALL 2ARAL & SIS d2Fe 4 Qloh

2 MU= TonyS BhLta) LIZIXIZE T LIER PR QU
> MEiAE Tonyo|22 74X ol ZAIHAL who S 2Lt
3 Expt ol 2 oA 7ol
» 'whose+3iAL= the+d@Anof which 2 v 2 4 ot
4 ®)amest 37 Ystn AlS Aot
> HRIAL] X022 MOl thato] AR FXIAE that Yoz 22

o7 |M BAIEA where= in whichZ HI0| £ 4 QICt SiX|
ok MX|AFin ol QL= BACKYAL whiche M2ret 4

12 upt got= 20l 2R0IEX|, Li= a2 ©S 4 gict

4 9ict that — who F= withs 2a i 52 24 » no matter what = whatever(gag ~st=)

Q@ Uz 27t 2higtE tE ok?

N
o

13 » '~ w7Ex(=anyone who) 2| olo|g LiEt=
whoeverolct,

14 » Msix= Zaisi= BAH-AKS whatolct,

15 @ L= 27t L2 B wialo] 0rSof SX| o=t

@ Al 20] U= A2 Lo Hof ZMIR. @ Lto| 7|12 o™ Zx| et

» 0[5} =o| s MatiALZE AjZto|=22 which — when
@ = 530 =S 2= AIZo|Ct
» MEHAZE AlRO| T the firsto] Alg grooz which — that

FSEni A



@ Y7t BR

@ L= 227t %

® Lk= J0iAl € & Tte U=l 2= 3RS ool okt

> ZACHYAL that2 A=
which2 dpRojo} et

7t stata

» anything that — 2§ cti=AF whatever

16 Ut 2 FOU0IE Li= 3

= =

Zo|ct,
17 ®20l 2= ARIS =7EX| 0| Z2ME BE 22 Zolct,
» anyone who — S&AICHEAF whoever
18 @ a7t b= L7t w5t Arto|ct,
@ o|z0] 17+ 28 aZolct,
@ 4= D7} S0fsHs Aol
@ = 7t At TS ORL?
> ZACHHAD HRIAL] 2X0{2 MOl AP HXIAP} YO= 2 2

7 BAGZME Mot 4 gt

o= =2 T BA
® 7N 5T Q= AUSS Holzt
19 » ofcioliM ~BIEAT = ZatrsA

20 xize a7t a1

2lo| ofoL|Qt ZCt I%&o| xi82 Mother Natureztn £2& 0]

Rolct,
> (A) Fbol BoRARE TRs0 YEtxiol MeAHthe place)7t
Mt gefolck (B) SREMAIHZAKRN0IER) whateverst

=asict (O) 29 524 0199 2ARA why st HEsict

Grammar for NEAT
(1) 24 M 2ol= %S JRIZiC »
thAL what
(2) o1xo| Jimg|
> AEH &
ZAEA where

M2 F1AQIH, 01ROIM L= Sk
Ho2 MSHAI} RAO|T Of5t Hoil BARIL Glooz Ao
(3) 2= 42 ol 2= BUL|, 2%0| BFES | HECH
b ALH gHoz 7t 4

[(ARE/R=C=

> RS ShEXIQ Qoje|

classt MaliAlo|2 2 BHAICHHAL W

MEX|, L= £22 A=

4 Zdo|ct,
=251AA+ whatever
(5) WAl B=ZS 5 A0 HIZEIACH,

> M AfZt0|22 EAHEAL who

Ericat 0o 21752 x|t OiZ0)| HEZZ 7t
Frank= HILILIR{E HO|= Z4S 21 Qict 0149t TomS HEZ |71 9
o, 747|M 2F7t 2 ghg HotstH Yt 15 HojlM Eric

48 Hello Grammar &t

A ZH|St U=dl, M2 0FF SUAACE A FAS HE HEH|M=

Ch oL

> o2 ZAME 0l25(0]

S Z0|ct Hi=RIE

AT BARBICE

Check Your Writing Yes No

HSE BAlSl= BRIS Lo MERULIR?

Chapter 16 | Tx|At

Unit 47 > AlZte| FX[AL
UNIT TEST p. 163
A 1in 2for 3since 4Until 5on 6during
B 1by 2o0n 3from 4through s5since

C 1during 2 until

3by 4in 5from

. L= 35 23 S9F BiLX|

L=

. HeE ChE 2| 1 Y2

> 7|Zte| ZI0|Z LiEtE= for
x| 742 o5
»sinces AZANQ} H M0 ‘~ 022

a7t =xfet 0] XIxtCt.

- X[@7HK| Li= 5 EXt Hofict,

» ZOHAL ISR 8Ho| SIXHAZ AM0|ZZ Al&e| 2fn|7t AR
untilo] efot stct
Aol 717t ZITES =CHFICH

rr

A
B 4 QUL

> 2AZ0| A[BIS LIEILE by

- Msll oll= 2= 7150] 2elct,

> EX5H & Aoll= on

2= Y M BAREH 2F 7AI7IX| 28 Hct

» from ~ to ... (~2E 7K
.71 00|52 R ofd Al 71 HFES| LHLH Qfot UX| REiCH

> ‘~ =0t L, == o through



5. X[t YQURE H|7t 21 Uk,
> Sixtitz et B AM8st= "~ Of2HE

C 1. ~2 ol behind

2. 41 0|4 Afolofid= among

3.0f0[9 FE510] ‘¢S F=rf = olujo|=2 over
C 1. for+apt 22 7124 during+5% 712+ 4.belows ‘~Er} ool 2= ojp|2 &A Qo HES LiEp of
.not ... until ~: ~7} E|o{Aof ---5iCt = 0}

.S eZo| AlSS LIEILE byt xieiagCt

Unit 49 > 11 89| Fx|AF
UNIT TEST p. 167
A 1at 2by 3to 4for swith 6by

Unit 48 > &4 - Yisko| HX|A}
B 1at 2by 3for 4from s5in

UNIT TEST p- 165 Caby 2o0n 3with g4from 5from
A 1at 2 above 3 between 4 by 5in front
of 6in A 1. al= 1AM S

B 1in 20on 3under 4above 5beside p ZR0| oIS LIEH= at

=

C 1behind 2among 3over g4 below 2. L= X33 o7 Sarat Ziolch

> RCH HHS LIENHE by

3. Ju= ARHA Efs AECH ZE WS O Z0fslch

=

A 1 2al= zie Zao| M8

Jk2)7|= at

=o
rE2

rulru

» prefer A to B: BELCI AZ o Z0fsict
2. Ef0] XIEM 22 mSCE 4. 4= 9] KRt RS, HHCHEH|?
> ‘~ECt o £ LiEfLi= aboves| 2lof Bict,

3. Lk= Aot & Ao] OfE7toflM L FAIS ofHFACE

> = XA Alooli= between
4. Heh= FHE Holl Uk

» by, next to= ~ Foff

» fore S, againsts BHHE LIEILE FRIAL
5.0 72t 282 AS FUC

> T LS LIEHHS with
6. 152 HAZ J30i| 7/t
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i
b 2CHS LIEHAES by: ~S Efn
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:
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
:
|
|
|
:
|
|

5. 4xP7H LA | B MM L= 20|25 &4 afotofRt it
» SOHAF OFRET} E|0{0F 22~ 0f 2 in front of B 1. Tomo| ofmch 252 2 5ix| o=t
6. EfTIO= ek o] et » at work: 2lsim =
> Ei2 XIS LIt in 2.0| HES S2] alr|2g Hzt
> by+EBA; ~Etozil
B 1. u= Arziold 2 48 2 4 3.0/0152 7N Adl2 TCE
> of KA0| OF 22 LIEHHE in » 2401 0j29] for
2. 7149| Xt {{oll= AE|F7} SHt 20 AUUCE 4.0 NT= 19| BZ0olof| M HIREIAC
> AE|ZH= Rjoil HESH ~ floff 0|22 on » 0|, folol from result from: ~0fiAf HIZEICH 7|Q15HCH
3.3U= BE of27f2t2 of2] A7HE oz Loj PRck 5. LA OIS Q12 Bt WP} 28 HtoE Ligic
> ~o| H}Z ofzHofl & under » ®20|in: ~2 2
4. 22| ozl o] sksoll= Hehgh 24 AKS0| 7I=S3ict
> ~Ct glof o above C 1. o912 Ueith= by
5.Lt= 3249 HES 8 1 Hojl AMS SO0kEC, 2.0n time &zfof, in time Alztofl 2t
» keep ~ beside _: - ol =t 3. €91 olgel with

=

I'l
i

F} sAd 49

II



4.be(come) from: ~ SAlo|ct

5. 381 HEE LIEH= from(Z2iX #stolis of ALg)

QEVIEV\/ TEST pp. 168~170

1by 2to 3@ @ 4behind 56 6@ 70
82 96G 106 11Q® 12 @ 13 fora longtime

14 by the week 15 ® 16 untiltill) 17 in 18
near 19 @

Grammar for NEAT

Step1 (1) from (2) on (3) against

Step 2 ofjA| & Maple Valley Community Center, 10
a.m. to 6 p.m. on Sunday, unique handmade gifts for
Mother’s Day and Father’s Day, is fighting against
brain cancer, to seeing you

1 .ozl 2 U Sofl oML,

- L= X2 RS ot
Fx|Atby(~ &
2 L= mR|ECH R

> FAE LE= Zof) / by+mScH~2 Ef)

ANHES O Z01R0| W20 AP} =Ict

« = OFx H H2IE 2= Aol 2=stx| Lot
» -prefer Ato B :B2CHAZ of Z0tsict
«be married to: ~2 Z=s|ct
«be used to -ing: ~&t= Zol| 2Uzssict
3 @ zu= ZoiM stmofl Zick » ZoiA: on foot(by — on)
© Zok=
> AlZte| ZAUE LIEHHE inO2 SH= 2%
Q ez 59 ¢ FR0IE FHeH 211 Ck
> SixfRtE et Mo
@ 1= 2SHM Ftsks RS B
1

2 A UEHH=E TXAZ

Bt AlZH 2toll S0t4A Zo|ck,

‘~EOQF 0| o|n|o| FMx|At= for(at — for)

» on the playgroundoi s on

s
rr

=
?__g

© 1 22 x=at H2 Molof At
» between A and B: A2} B Atojof(or — and)
4 o= ms Yol M ot
» in front of(~2] 2tof) — behind(~2] F o))
5 @ el caas M52 oS0t
@ d= Lo £2 EH

Q@ a2 2 FFoAE 227t

=

Y= YEE 1 AUCL

1|

50 Hello Grammar 24

6

7

8

9

10

11

12

13

@ O{E7| AIMS0| 7|012 =0{7k= ZS Holl MA 2utt g 5

® HE2 HEJ FA-ME

> ©F M|t L= 2% of 7t 9fof Sict
®be made of~: ~o=z t=o{x|ct
®@afriend of mine: Lf &7

Aolct,

®ofnouse: AR0| gl=, 2271 9= @die of: ~o& =r}
® come from: ~ ZAlo|c} ~0jlAf LtC}

EXE I AROIAL?

> v © >z
=]
-

B: Jaf, f Jx0ll 7k Hoil &
» for= ‘ZtAMs10Y | against= Hiistof
A: HE T2 o212 HISELI?

B: olLl, 72 = HIERHA,
> TE 22 tldoh= Ao|=
CHA Of2| Zotx| B0l %2

Z+go[of.

above

5t ota|= AURAC

> (M 0lY) BOIM £ SE5k= MRz among

O Rel= HA HRHM 252 2UCL

@ Jue =20 A1 ot

Qg o=

@ L= X 22 0|2 15 BHIX| RACE

® M2 20 AYEZ o2t

> (FEs10d) ~ 20|, ool = underE £ct below: ~ L} ofzf
of

O =0l of e

@ Tome Z7|2 ¢ et » 2ol 0|]e] with

OFElE £0| O]

Zo[ck » AE Aofl= in

@ Jld4= FRoIM Ysta Ak
» at work: st= =0l
@ 1= Hg g7IX| Rstn =2 Zolct,
» through: ‘~ ZQF LU o] L£o=Z Hio| B mi7IK| LHLY Aot
QUX| 28t Zo|22 g S0t =2 Z{0l2k= 2jojolct,
® J= d Bof Ml B BRACH

» during: ~ 59t ~ Z==0|
+ XIZ 0jop7| & £ glod. Li= 7Ixtofl Ef
+ = Alish Zol| ofTiofl AS HLI?
+ H= 16Z01 U= 7IAE 0]
» on the train2 7|xI= Efz Q)
of gt

Li= L Qatset

RA01.
EU?

= 2| ojojo|ct, FXAtONE HH
2 £ LIEHHH, E55t 22 LIEr mioll= & 2 ACt
23 K| RAC

> 7|2t LtEHHE= MR|AL for



14 252 g2 wert
> by the week: Z ©9I2 (byi= ©9IZ LiEE= TXIAD
15 - Lt= ghoil ofaf
- U= SOIZ BA| MZWIKI= 1242 CHA| 7hrQiof Sict,

7ict,

- CHERol| ThEH XIX|7+ 2010 03 XS22 50% 022 ZofRCh
> £ 7Ziol= during2 Al2stH, 229] o|n|2 LiEL= ‘~7Hx[
£ by= o it belows ‘~=rfofeef aj= sEolct,
16 not... fct, ~7Ix| -
17 on time: ®zlof, in time: AjZtol| 2, SX| A
18 » near: ~ sptololl, ~ 2ol
19 23t 550| Solstn A7 2AIS0| SMAI SOt S0l R3tstcH
ot} ot of BXIES S20| B
7HQt ZHICE 400U BIMES ‘Sldlhenninsy o2tn 22l= =
2 BXIZ M| ARRCE 22 Esls 22 X oS A 2Yst
Bl, ofiEt &t 70| 10| &0|CH
b (A) ~ SoFoft Eoz EX 7|7k LIERY mjofls
of sict (B) ¢l z2 71 7

atstof 2k= ojoj2= through2 AKg3tTt

until tilh~: ~o| ZlojMo} -5

Zoict

Mzt o2 %

duringg M

sict (O ~2 &

ZHdol=ing Atg

Grammar for NEAT

(1) S2l= SYEEE 7RI IR0 HSSC,
» from A to B: A2E| B7ix|

(2) Li= 22| 142 x| 23ct

> 29 Yojl= FxIAong AR

(3) Ral=rie Fof oM MuSISH AR Sit,

> ~0fl 2N, Calstof aks ojojo] Zx|AK= against

Step 2

* AIZE 52 1Y U2

2T 10A|~ 2% 6Al
» &4 Maple Valley x| AEf
*FQ EE: ZESHLHIE

(TARE2 ofn{L|n} OHXILS fI3t E2 M=20] 2 AL)

olz = o= Sadie Lynng 9is ARRE ZHQUL|Ct aEs

o HIXES|Ofl =CHSHA SI0f 7[88Et 1 HEXES]
2% AI7IX| Maple Valley x| AlEfof|
Zolok, L3l= oLt OIS 9ISt S556t 1 HES 3

o
=22
2 4 /2 ofFeld, s LEYT £ F0[0L 4247 5 Y Sadie

Lynng s ALRE of™olh|, JuEe HEYa &Y F0[ok SIS 255
77| M B HEZCH
A&sh=
Liz7t
> LAEQ| LIRS ET5I0| HAIS ATt
Check Your Writing Yes No

FOITI Y=t R0 | 2M7 o SOZULR?

Clofst SEfo) SXS AISHLIR?

Chapter 17 | ®&A

Unit 50 > SHATSAL SETEA

UNIT TEST p-173
A 1but 20r 3is 4so

B 1for 2and 3or 4but

C 1 or — nor x= Neither — Either 2 for — so

3 and — but
Baseball, football
D 1 and you will not miss the school bus

4 Baseball, and foothall —

2 or
you’ll be punished 3 so she didn’t go to

school 4 as well as beautiful

A 1. OUE ISR $=3t Alo|ct
» pooret happyt thz&l= Zol=& but
2. 4= 2oHO|LE ML TS
»either Aor B: ALt B

3. L{0F OfL|2} Lio| HEME 95

2{0F BiC.
=9 ottt
HEEC}
» not only A but also B: Boj| Q12 £2 UX|AZICH
4. 3= 57 LojLEM =2

> ADIS LIS SO

2512 7HK| UL

N
=
12}
2
d
ﬂF
o
rlo
0
e
0
rr
o
o
In]

el aid 51



2. 20| HF ci2{fM

JLt Lol 2 AR0| gict / Lt L o= SR &R0| QU
» neither A nor B: A2t B o{= Z& oj
either A or B: ALt B 9] 5Lt

> ZuE LIEfL= so

4.0, 7 12|10 s7= 01=Z01M 7] = 2SS0l

2. 47t =xIE

> 0f2f JHS LIS mofli= Ofx|at 2 ojet and S 2QIct

. H7F R SEH,
> "yy2+and ~
SIX| o4

> MHHE+Or ~, 122 X YoH

AZEo| onjo|ct,

3. = OBEY| W20l S0l 7HX| ATt

> O|RE UEHH= 2s 3= of 22 ZuE UEt= so7t 20

4.0] E2|AE O E2F ORL|2} HIMK|= 24Tt

» not only Abut also B = B as well as A: A&ot ojjzt B

Unit 51 > HAEE o|11= ZAFSA

UNIT TEST p- 175

A 1whether 2what 3That 4lt

B 1 whether(ify 2that 3how 4that

C 1This— It 2that —if(whether) 3 does it mean
— it means 4 He lost his parents — That he lost
his parents

D 1 why she didn’t come 2 who will win the

game 3 What do you think he has in his hand

A 1

L Z7E LAl HEEE SR oF SX| =270t

> ojnjA ‘~QIX| OFIX[ 7} M&ste2 whetherst 2gic,

2. U= X|tof F& 2ol Lojxt=X] ofL?

3. L7 LIS MG itk 2

o812 st whatg ot
ArloIct

> TAFES 0180 F0f IS ste T&AL thato] 2.t

> 2ZALOIHA F0{

rlo

4.7} OIZCH= 242 ARHO| OfLCE

52

> TIF0fel that=g chlst= 71501 Ito] 2ck,

Hello Grammar 24

B

C

D

1. J4= LolA| H|7F X 2F SXIE SUCL
» whether (if) ~ or not: ~QIx| Of-IX|
2. LIz 71Z0| 0§ EQsiCt M4Zistct

» 2XMES 0|11 FBAL thato| 2ct,

3. J4= XISHEZ H7I7IK| 7h= o €oit 22 Z2l=X] ¢u Ao

o

Ct,
» how long ~: Yot 2z
4. XS0l 2= 147t 2
» the factet thatze =2

ASFCHE ARMS 2UX| 2Ct
Zo|ct,

1. J7t EXf2te A2 FHusich

71501 Itot ZIZ=0{ that 220t
2. LIz O AF20| AFMRIX| OFLIX| EAIEE 4 giCt

»Itis clear that ~
> olnjA ‘~QIX| ofX| 7} XMEsioz if whether) 7} aic
3. Lie O7| & SRIX| =20t

> EOIZ 22 TOIZAMFOH+EAL Q| 0f0|Ct,
4. 27t B22E 0QRict= W2 ARl

ZA2S 0|11= F&ALthato| 2tof 5t

1. He JU7t off @X| LQU=X] OH?
> ZPHOIZE 2 TO|ZAMTOHESAL 2] 00|k
2. LH= F7H AEollA 0] ZRIX| 2Z5ict
> who7t oJ2AL0|EHAM F0j0|22 Fofl SAZ} HIZ 0[ofZICt,
3. U= 27t &0l 2RE 20 Uckn MZISH?
» thinke] 2xi0{7} £l= 7idoz2e

What do you think ct20f "Foi+=.

OIEME 2Y 2ol

AL2| 00 2L},

==

Unit 52 > EAFEEZ o|11= ZS&T&A

UNIT TEST

p-177

A 1as
B 1s0 2soonas
C 1unless
D 1 While

2 Unless 3finish 4 Though

3 because(as, since) 4 As
2 so that | might(could) 3 Even

2since 3 though@lthough)

A 1. Ut Eol SRS 1 AATE 4ME FCH

> ~eh i 2k 2J0j] AlMS UEHHE= as7t 2Ct

2. U7t BAITIK| 047 @X| i, Li= 1 Sio] ' Zolct,
» If ~ note| ejojo! Unless7t 2ct.
3. L7t L2 ORXIE oA HetE

> AlZte] RAREOIME=

|-74 | [}

SATHAIRIZ DIZHAIKIE THAIBICE



4.HIE O= S| LoRX|R Stwof X pAuct

> = YUK XIZSHK] PUSBE A HO| 2Lt

1. 0] 7142 4R 2HLIM Lt XM 2 27t Sk

» S0 ~ that+Z0{+can’t ...: 42 ~slA & 4 gict

2.7 010|= AP7| HOLE EXI0MRE £7] AIRIICE
p as soon as: ~akXokkt

3.14= oils
> 0|RE LIEHHE HEAL 2Lt

4. SSE2 LIt E5, o Zo| glofxict

> EAPEQI Hal= as(~&ofl mahE Ak

HX| §LU7| whZoll b7 b Tt

1. LH7} Hite x| &to 142 =k Zio|ct, »if ~ not = unless
2. Lh= OHithet =257 | flol L Uoqiict.
»so as to ~ = so that+Z0{+may can) ~: ~5}7| 2/5t04

3.HIZ I Uo7} SXIEE 121 U B 4 Qict

» though = although = even though: H|2 ~Yx2l=

I—QEVIEW TEST pp. 178~180
1® =2that 3and 4@ 5@® 6@ 7®
8 wellas 9or 10@ 11@ 120, ® @ 136
14 @ 15 but 16 so 17 @ 18 ® 19 neither,
nor 200
Grammar for NEAT
Step 1 (1) | think (that) (2) since (3) so that

Step 2 ofA| & want to be a fashion designer, | was
very young, is another way to express myself, to go
to art school in New York or London

U 7t B, S2ks 2ol sio] 2
SAROIME

4+l

e SITHAIMZ | Ol2HARIE CHAISCE @ will be —
is

o 227} 2 oA 27 |E BRI

> hopeo| &g o|nE F&Al thato| 2t

2E2 AL Filofl = Cloll SC

» bothAand B: AetB £t

« Jld= o =25 01F2 0] SHof 21 UCk

- R2l= Ol Athofl A1 7| 2ol ZFE 71=0| Zesich

P since: ~ 02 (A1) ZETSA / ~0|22 (0132 ZATSAD

Lt LE ol Bt 20| gy 2ol ==tk
» "either A or B, L20|M= Bojl 9121} 42 2UX|A|ZICY

@ = 3 0lop7 |7} Akdolatn 2HRHCE

@ Lh= HollAl L7t 22 4 U= 2E AS Lsh FACL

@ Clojo=.

@ UBIXOl o742 mUA I0I0] & nak=

® 27t LIECH 0f2|Chs AR2

> 22| that2 ZHACHHAIZ MEAL everythingg
g olmct, LiHX| 28s0M thate HA
@ saido| 2xi0] H&t2 1= that® @ ZIF0f &2 5= that
A @ 40| BE2 sl=that® @ S#E LIEKH= that ™

@ L2 &0| ZohiM Li= 7t2IE Z0tstx| =C]

@ ooz 275tz Nicole2

> Despites HIAZ (FOH+SADZ O|20{ZI & 2ol & 4 22

LIEfL= F&A AlthoughLt Thought

E7} A0 Folth=s 22 ARHo|Ch

Zo|ct,

S5 gt

FABHE ZEA

23 0= H&ALO|Ch

25t Zich

82 Y=ol on|g
QLo St

@ Al F2 A E2 elch fiLetH 47t A7 R0l

@ 1= Tomo| 1 8530 SxX| o] 22Ct

> 047|M IfH2 HAFHO|2Z OJ2HAIKIZ MoF Bt

® L= H7t S0k2 mi7ix| 25 E= Zolct

J= EHjet otllat &= ZUCk

» not only A but also B: A&t oLzt B=(= B as well as A)

W7t HEs| 2X6HX| o™  Ho|E & Zo|ct

> unlesss 0183 B2 "FHR+0r ~, RO HHE 4= QI

- OHith= F0|CIE o ZOIGIAIX|ZH Aot &3S o Z0kstAICh

< ARI0| EE4E T ™ O oXl= 2 2Lt

Hoj 2| ojalo) while/ - ~&ofl a2t 2k 2loje|
as/ « HIE ~Yx[atz’ 9| ojoje] although

@ ot 37t stwofl 2X| ot SX| ZZsict,

> o|ojAt “~QIX| OX] 7t &
ok stk

@ 147} X LI OFLI?

=stoz what2 ifLt whetherz vt

» Ztol222 when she will get up(QI2AHZ0{+SAR2| of
&0 MAr}

@ 1 xH= WEX|E FFHGHK|E Lt

» neither Anor B: At B oj—

@ J4= LHE EXI0M} 20T

2 O

L=

2]

b ol

93



p as so0n as: ~atAtOtA}

® 0| 22 ofat I LK Zdolct,

p 2Ho| ZZA2 or7f ofL|zt andE £ct,

12 » ==poio 2
howzt ataict

13 w7t 2ol FMakUS o o1 SEHo| SURUCH

b2 olme F&AL ifet whether,

E= QZA

b '~3 I 2H= /0|2 LiEtLl= asolct,
14 u= a9y g=g 7

> HIE ~UXRIE 2| o0|E = LR FLATH 2L,

lofg 4 QUL OIS 7le]

mo

2 Qict
15 L= )ime 29xpL 1= Ls 2x| 23ict

- David& o|=2lo| ofL|2t =Qlo|ct,

» o X0l & MS AHzsk=but / - not Abut B: A7} oiL|zt B
271 giict,

16

« X7} AT BOtM 22 o] LolLt=ER| =

- LH= OU7h 98 motct Eol S0iZ 4 Q=2 JolH ZAE &
Zolct,
- TS OFF £835| LS SHM OFRE S| S2 4 UL
» +50 ~that.... 5 ~3liA] -5t
+50 (that) +Z0{+can ~: ~5l7| /5104, ~&t 4= Q==
« 20K) Ch20f 2= so (that): T2iM, 7 Zat
17 (27D 2= steloiM @ ArRisS o
@ L= ofC|2 Jjopetx| BaCt
@ L7t R o AfRHS ) Zic,
@ 47+ 2iR| S0K2X| J0jjH| 204zt
@ gAl0| QR et K| MA Lol ML,
® 4= 12 OIrf SHE7|R QHAL?
> (27]), @ HaAtwhen @, @, @, ®: 2|=2Atwhen
18 @ L= 1= og| o2o) a2s eIt
2= 20| YN SUBIX| LA
@ L= 22
> ZDIZ LIRS S0t 2C
@ U= 25 ol Zojl gt

® 252 37

» neither A no

oloiCt T2 M 2| XIEE ATt

S of=OILI7t F&t5Hx| Otk
20|7| 20| AHS CHEEO|
19 rB: A% B o=
20 Zxjof 9o wo| Ay ol 7k fMS 2 4 Qo Rals a%s

WoXl= & ofzkn & 2 xj7o| f7|Eo=z Sof

MEM AT ti7[2E Salsks R4l 02 a250] 24022t

=2 =0t
= ofd
220t iR R4
2402 UEOFERE ot EfYHEICE f40| X7t BHE o 2
g2l JA2 240[2tn F20t (IRE2 ofF AL} oX[T 7182 2
40| X|72 ZLEISI0 Hihst 2372 DH=Ct
> (A) =70l ifLt mi= LiEfk= wheno| 2} (B) HIZ ~x|2}
= 9| ojn|o| thougho| ¢xo| 2rt (C)2Aolztn 22l= %

oloR SSE7} RsICt

54 Hello Grammar &4

Grammar for NEAT

(1) thate thinke| 2xf=2 ojnit, of uf thate A2rat
4l

(2) since: ‘~0[2iZ o =02 SixHAZ} B MOICY

(3) so that: ‘~s}7| l5tof of ejojo|ct,

Step 2

* FA0| 2|1 H27t: T Tixto|H

91017} : 20|} 2AE

Zefoll Li= ThM Cixto|A47} =l 2ot L= OFF O mhE mhiMol 2t

Of ARAC, LE= TN TIXIQI0] Lt ApAS H#BGHE E CHE Yot dzfst

Ch Lh= L8 EAS AFRISHE Ae Y SORICE Ue MARcz RF
x

S TN S|ALOlIM et 7151 27| 2loll w=0[Lt 2T U= o= Stwol| T

Check Your Writing Yes No
7+ HEEISH0| 2M710l| SOIZULIR?

™
2
[pa]
o)t o)l

Chapter 18 | 7F3d

Unit 63 > 7P 2171/ a7tz

UNIT TEST p. 183

A 1hadstudied 2knew 3hadhad 4were
B 1 didn’t try, couldn’t
go 3 weren’t(wasn’t), could do 4 isn’t, cannot

2 didn’t have, couldn’t

[can’t)
C 1 had been 2 knew, would, do 3 were(was)
not, couldn’t 4 had, could
A 1 Ut E O S| ZRIUCHH AR e 4 UAS =i,

» could have passedz o} 7Pge =022 ifHol=
Thad+ARAL 7L 2L,
2. L7t 09| MatHsE otctdH, JofAl GE Matet i,
» could call2 2ot 718 mp7jo|=2, ifHol= SAR| oA
0| 2ct,
3. 47t =01 =3 AACHH, He
» could have hadz 2o} 7p&e aietEels of 4 Qlct

4. 47t Lo 2H™o2tH, L= &



> IPEE a0leZ2 SAtel TpE0| MojH, beSARY HRE
wereg M= 20| EEo|Ct

12U as

k=

A2 TGN, 152 HHIN MBS

Hic|,

> 7P IRR0(22 FAE2 AT X, S

B 252

2.0 22|07 S28 S410| JUCHH, Ral= O #AsH Z
AAS Hid|,
» had hadojA] have SAIE IAANQ] BEMoZ HiRY =M

Yoz LIEHHCE,

3. L= AILE AolY| wiZof, soF &

o 5 5F A
UsS g+ ald

.-

> ZlMR0| STHAIRIOIZZ JPEY TS MoF st2E, amE
weren’t(wasn’t)e} zo| atHARle] £&&o=2 can’t do
= could dogt Zo| 2&&o= HIYA| =it

4.7} O4710f] Liet 8IA QUCHH, L= of

> 7 ] 3YS0|0R e BiX

E

=]

g
;

=gt Hid),

o
<
| Ex2oz »iz 4 ot

o2

e
Ho

Aol LHEA 1t AMMe| BHHE 7hEel=
201 TIf+zoj+had+tHEA ~, FO+xSAle] HHH

YEHE ARSI,

Aol22, JPEY kA

ro

+have+m7{&A} -

2. 2%0| LHSA SIRH ARMOl| CHE ZHYo|2 2, JheY apel ff+E
OHSAIS] T ~, FOHESAIS| HAHBHSAIEE -, HEIE
ArZSIT), FHEO0| EEY ER F0i2t Z8Ae| 0x0| =X|ECE

3. 20| L2t SRl Akdoll st 7Pgo|=2 7PEYE TiAS ARZSICH

4. 20| LI SiX Ak Chgh 7FZ01=2 JFEY atHE ARZsict

Unit 54 > ifel M2k if& ol2le| 71
UNIT TEST p- 185
A 1Wereit 2Hadyou 3 Werel

B a1b 2a 3d 4c
C 1 it had not been for your support

D 1ltistime

2 it were not
for his kind advice 3 If it were not for music
2Hadyou 3 Werel

A

1. 49| =20 giCtH, L= 2 Al

e

Hig),
» If it were not forollA IfE AEts5tH weret ito] =X|EICt
AlZHoll S| ==Fe &~ UAS Hi|,

» If you had humedoﬂM IfE MzksiH,

2. 47t MERHEH, U= 1
hade} yourt £x|

Ect,

B

C

D

Unit 55 > | wish+71&8,
UNIT TEST

> b BRlIA if7t A2kEl Hetol x|t
1. 7t AZSHH, BolM = Hicl,

2
3.7t E
4

2. 70| TIES S0t gloiH, L= XIZ RS olior &X| 28

2. 289

w
HO

U7} Lt

Of SAI5| TR, ABYS S,

U7 EERIC

rd

. HOf XIX|7F UUCHH, L= M7HollM 02 2 SiE Zo|ct,
fit had not

Ol =xo| SEiE o ZHAs

» but forLt without2 if it were not foret i
been fore 2% cfAlE & Q=
Cf. FHo| 7rye npHt=0l=E, ifXolls Thad+aiH=AlQl

SEN7 mesich weats But forstIf it had not been for

Zolct.

» Z=&0| 7P 10|22, But forvt If it were not fors

2 X|Fg Ao|ct,

7t7{ol=22 Withoute2 If it were not fors

-|>|
|1|>|
<
E

. Itis time (that)+Z0{+SAle| tAS: ~& ufo|ct
o] HIthE 7hdslk= 71gd
you had come to the meetingo| Atz|ofof 5ot If7}

LHE4 1t AR 0|2,
Atzrz|d Had you come to the meetingnt 20| =x|= &
EN7t EICk

ol Lig o| HihE 7hdsh= 71

were you7} Elofop st 17} 42t=/s Were | youot 20| &

2o X AR 7oz, If |

X2 HEH7E ECk

as if+71&H

p. 187

A 1were 2hadseen
B 1don’thave 2isn’there 3 didn’tfight

C 1 studies — studied thad studied)

met 3 listened — had listened 4 is — were
(was)
D 1had kept 2were 3haddreamed

3 hadread 4 had been

4 was
notwasn’t)

2 met — had

A 1. Ut XBECHIPLE o 30 B2

El
o

.

LIEP mholl= T wish+71&e ot

[lIO

> B0l O1F 4 gi= AnZ

7,2 ARSIt

2
z

F

2]

b ol

95



2. ozl Lot Lot S BEE ERtmtE E4S il
> 20l O1RX| 3t AUS LIRS mofls T wish+7hy 2t
=5 AT

3.7 Ofx| AT 25 M2 i,

no

o

Zix{2d af

o=

roh

> 2| LIBY Yoks A2 MoIH ei2 A2 IHH0|==, AKX
o| Xo|E LIEtHE 7Py apitz(had+2i7{2ANE as if ot
S0l AZStTh.

oz, as if Ci20|

v
Ho
502
i)
=
OE
pal
e
=2
s
e
=5
i3
=
rlo
[

7FgY aAA=E Dol Htisls S 71FYSte] LERHCE

B 1 Ut xiz &2t AlzI0| QIckH 22 )

Ly

> wish+718d ai7),= zid¥o=z diRol £ o, I'm sorry
CHSofl SIRHAIMIZ 220t T BHHS 74E6ke Z0|e2 /2 &
H, 282 2Fo| et =t
2. Aot X2 0471 R2Iet &7 ANCHH £2 Hig),
> I’m sorry chSoll SIRHAIMIS 20t £ 7PE#o| Ligo| 30|
o2 REHM= 23Ol FEelt ECt
3. 252 0| W3 Hofl M2 M2 X =2oIct
» fas if+7paE np7ieta = oo} HilEl= ARS 71dst= A
0|22, AMY OIS2 A0l MX| 2RUCE

o
=

;;T

4. J= OFR| et Elet 20 ch
» Tas if+7PEY nif,2, A0t as ifdol ARIZE 2ot makd

FHEO| A ANt 22 AlMI2| Hithel= US TP o7
M Z=o| talked ap3ol=E Moz uiE of aHES

AtE

r9£

Ct.

C 1.4 =o| g o=

ne
o

FE5IH (SR £ €,
> SRHo| O|RX| Rots AUS LEH mol= T wish+F01+SAt
o I, S £rt
2.4z OFX| O RESH 718 OHE Z4XE LSttt
> 20| oA 1 7tE IAol| BHoE 2K sk Hol2=,
7 ARAlO| HHHE 71MsH= fas if+zof+had+aiA=ALZ Lt
ERACE
SACHH £ Hid|,
» 21719 0|2X| 28t A2 LIEH mfofl= T wish+Zof+had+
IHEALE £LL

4.7 X3 2420] FA| 42 iKY BOICt

3. W7 2 o] £ S

0|l>|

> SiRHe| gHh AMMS 1S mHol= fas if+Foi+EAtel oY
(were),2 ABSICt beSAR: 7P at70ilA ool Q1o

27Il0l wereE MX|T Fojoli= 1, 301 T o

rr

wasg M7|= Sict
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QE\/IEW TEST

1. ‘&2 X|7|cF = keep one’s promise 2, 1] AfAQ| HiHE
LIEHN= 7hae ai{ete Sefz otsof | wish CRSol| ¢t

2. 3xHof 012 % Q= A% Tl wish+Z0HSAte| 0,02 LIEt
O

3. 01 ARAe| HIHE 7p8Er mjol= fas if+3of+had+ap2AL2

LHEREHCL,

pp- 188~190

19 20 30 4@ 5@ 6@ 7® 8asifheis
— as if he werewas) 9 @ @ 10 @ 11 Had we
found him earlier, we could have 12 @ 13 @ 1406
15 had known, could have sent 16 it had not been
for azitistime,had 18 ®

Grammar for NEAT

Step 1 (1) Without, could (2) knew (3) were (was),
would (4) had taken

Step 2 o] & (1) have to take care of, would be left at
home

(2) can’t afford, hadn’t spent all of my allowance

(3) I could, Dad’s birthday, help Mom prepare

A: 2 ozl XPEATILH o] L49] ZHoIL|?

B: g zei.

A: L7t =0| CHH, O3 XHAHE A HIG,

> HiZhofl= o et oi22l= TFEY A FElvE 2ottt

Ltz THElofl Mzl 2X| okA RZOICE
= U} miElof H2tofl cel E2 E|
> ’'m sorry+atAAIR 0|22, T wish+Zot+had+atH2A} 2|

JFEE o= EeL 22 olnjel 2ol ot

Wt ZZA ofF 2E 4 glof RZoltt
= Uk ZZA 012 TE 4 iR SS H

> "I’'m sorry+SixiAlIM, 0|22, HAHe| 0|FX| 25k= AZS LIE}
LiE Tl wish+ZRoH-SAt| 113,02 LIEHHTE
Jidi= O Hiedct Dok J147F AjZH0| QUTHH Liet 8l iEE Hid|,
> SR ARMo| HIHE THYStaR THEE 2i{Ql TIf+Foi+EAlR] 1)
HY ~, FOHESALS| THS+SAIHH -
@ Li= &+ o] |Zolct = 7t g 4 UCHH £5 Hin),

@ Li= AHRI0IE HILX] AU Z40] RZoICt,

19| eIt E[ofof Bl

= L7} AHQIOE HiRCI2tH S5 HIH|.

Q Lk= 29| FAE 227] 2ol 20iA BXIE £ 4= 8iCh



10

11

= 19| FAS UUCHH TJ0j|7| HXIS A2 Hin,

» As | don’t know his address, | can’t write to him.2
SxHAIRI0|=2, 7P ni4Eo] =lof If | knew his address,
| could write to him.zt z+2 ojo|7t =ict,

@ Lh= 4= otLy| mi2of, 22 & 4 Sick
= L7t OF=X| ctH, ORS & 4~ US ©l

® 7t X 647| g7| wEoll, Lhe 25 =2 4 gich
=7t XIZ 7ol UTHA, L7 25 =2 5 @

2| ool 1 AtHel BIHE UEHH= 7FYE ai=0laz,

Nf+zotthad+at4=AL ~, FoH+ZEALR| TS have+IHE2AL

.0
1=

el =lofof it
BI20 L7} Of| 2B AOJLIX| UUTII, 1 HAS EHS Holck
> JFRS BT AAZ TR 20102, AFZE OfF) 2 of
LI BIAS EXIX] STk ofololct,
1 208092, A IF OfI0j0I ChstR] Lot FAIR,

> ST ARMT} BiTHO| MBS JhESHE Zol22 as if Fof ZhEE

7 SEef7t etoF sich wetM as if he isolM isE wereLt

WaszZ HFLo{of stk

@ L7t XIZ Fst sieatH £2 i
» Tl wish+7t&8 117{,9] 2%t0| E|ofof 5122 am — were

(was)
@ 37t 270f thel LAt H2tn USHR?
> bR
@ 2t Lh7t 2k
ot » JPEH 3petEst =ofof 22 studied — had

studied

# Ip{etE

BA5| BEACRE, Alziof A

@ B a7t O Gl EQ/HEtH O TSRS Zo|ck
> 7FEE DR if7} AHZEE| O A h had7 ==
olct,

® 0Opx| cheket 217 HoflAl Zojut = WX =ik
> M AMME RSt gleoz as if chk2ol| ZRgY oAt 2

Ct is — were (was)

» - SRl il AlStS digk= | wishzt ofof Sict | wish Sojl=
7pEd oAzt 2ok

- ‘~0| ACHH o oln|S LiEHHE but forat <for itk

-

would have played2 0|20 H0f 1}7{ AMAQ| HICHE 7}

Fats 7Hed

4 TR o 4 Uc,

[=] =2 T M

~Ql Zix{3 02t 20|E LtEf= as if7t 2fof

dets Thdske 7hEd

ror

ct.

» Tp ARMO| HITH & a2tz 2FoIck, off

12

13

14

15

16

17
18

if™olA if7} AMEFE|H Z=0i9t SAP} =x|g/l22 Had we

found ~7} =lofo} Sict 7pEH npqAZ0|=2 Z=Fo| "could

have+IIH{EA}, SEN7E AFREICE
@ OIM| L= Mw2lg Zotof & mjo|ct,
@ E7t 42 X2 ot L= O Ug MEig Zolct,

® Lt 40| EX
B,

| 4ot = ©2 70122
@ U7t Tt aojaiH Faf 20| g2 Aolck

> 7P 2P| 2XoR FHoE "ESA

would have7} 2fof &t
® W7t 227 mlZEHK[2E QAQUTHH,

RS o,

ct.

r_‘E
i
ne
=}

EfYCZRE Q| SAIHO| QICHH, X7tz otE2 TAPZH & Xolck

» if it were not for ~(~0| gicta)= withouto|L} but forz

HHO & 4= Uk

Y HI7F 2| ECHE, Le AEY BNl SHX|2E E27t 20X
OIE}..
FEo| ez Eot M AME 7RSSk Y s o &

oic. Tfeth TIF+F0MSAIS) T13,0] S0fof Bini, Sloly £
20| E0{of Bick,

o] Mg 2307 TR0, Lis Lol MES

> 274 ARS| BT TR TRIRE Lietc,

L] 20| g

> FEO| AMZ 2ot 7HeY nfRzds o + Ul

24 4 T

QA2MH, L= 387 L™ dojd 4 QIS Ao|ck,

TP mietR0l Mol if it had not been forg chAlstct,

> Tltis time+71 ntA,= ‘~ & mjo|cf 2t= 2lojo|ct.

TV 71E 225 WHE £ stlolch Chof eizfH|xo| girtH 22

[

Ol

7HOILIR! LE=7? Lis LI sjatn Mzisich TV B2 golst &

ol

to ok 22l TVE Sl & MAlel Adlat g2 R85 F2S

ne o
[0

S 4 oMtk TV Fojciet =2lotRE HFs|Lt Fatix|el 2247

2le 2ol A

Zsich ofolse 95t 22 mg TV 2oy
Q=g AXIo] M7 CFZ RollAd

4 i,

=
ot REl= 25 GIIEE &
HOX|1 USX = ZE2E= MEA F7I= B
»® M ooz whato| of

which7t gjojof SiCh @= SiA Atalel BHHE TPEGH= 71

U 37 EAHAL thatolLt

A=z Sk= BHHO|CL

Grammar for NEAT

Step 1 NOPBLrsEn

FOHESALY] 1t

74 Without But for) ~ |

MERIUE
(2) sixfofl 0|2 4= Y= Adto|22 Tl wish+7FEH 2174,7+ 9tk Sict
(3) & AlMl2 Jhmstaz 7hE Bi7{7t ofok Bt of mf if ol beSAt

HE

57



7t @ were7} 2EI0[X[2t wasE ARRE 4 Uck
(4) Tl O1ZK| REH Ago|== | wish+7hY
(1) oiersH, sfx
1 o= Eoil Xt wE Hok,

2 AN 047t

Ch AEHEIX] LRUCIEIH S Hid|,

s=

(2) Ltz a3z Alx|pt

» afford: (~2 4
(3) L= 3T Alx[ot

HEQY
StAl= Z =2foF ai.

X2t L= U oiSdE =X

0L A 22

12 Ot} A4Al0JOF 0Pt

A=, 7t 2iof Bt

2R - AZHE) 097t Elct allowance: 8=

foF sh. Li7t S,

At=2} LY e

o=

e[S ZH|

> FOIEI THO{7F 0TS E2510] O219| el S 2ES ST
Check Your Writing Yes No

FOJZI hofLt o175 X{Ho| EEsIALR?

JZ0f U2 e BERLIR?

ool 7| 2&S 2EALIR?

Chapter 19 | €x|2t 2}

Unit 56 > Z0{2t SAte| EX|
UNIT TEST

p-193

A 1was =2are 3 likes

4is
B 1 have — has
am
Care 2is 3likes
D 1 mAlo|R} AJ0lO1 St

S Atho| mEfofl Sict.

4is

2 L

ARZHo| mfE|ofl Tt / A Bt
2Hotet L= I

2are —am 3is—are 4 are —

ARah Al

S23(0f 7t

ATk / LiEE0t OofL|2} = 1 S53|0l| 7HURHC

A 1. L= = Fojl HO| AFIREQ| THRI0ILY,

> FO{7HIQ) oY 23

2. 2} L= S0ICf,

»You and | — ZFo{7} £ AjZo|2z 24 04

3.0| OF29| 2& A7t 25 Z0fsict,
»everys G Z

4. &013= W7 MY Z0tsh= OFY AlAfo|ct,

» ham and eggs= hamzt eggst siLiZ 012271 MEQRIS

it — Ch 2F

B 1. uut a4 = 3t Aol 1 2 ok sict,
» either you or she — sheoi| 2x|

2.0 LT Of3S 71X 942 Zolck,
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C 1

D

» neither he nor | —loj| x|
3.Janefat ojLjzt HE 1 AlEE X1 et
» not only Jane but also you
4. 4880t OfL|2} LIz 1 2Xjof 2Hel 4Bt
» | as well as you — lof Lx|
Youot | = AR — 24 33
2. 301E Bt HRIZ FFZ — T4 3
3.every —H4 33

JEE 015 — B FHE

1. SLlut Ele| 21E

2.not only A but also B

B as well as A (Atat ofL|2t BE)

Unit 57 > AlMI2] €X|

UNIT TEST P-195

A 1 he was sick 2 the player would win the

prize 3 he had been smart in his childhood

B 1is—was 2was—is 3can— could

C 1learned, broke 2told, gets 3 said, is
4 knew, rises

D is

A

B

> SIRHARIS] FHO| SADE Mol TAZ HIHRcER B&

[}
10

SAI= HHHO{OF Sh=d,

Ipietzst S,

SEHEO| MR 1=, DA

1. Lk= 7} OfECh= XS Qi) — Li= 37} OFHiChE WE LU

2. 22 O M47F O M2 WIS vt — 2= O M7t 3

d2 LIS HiRCL
3. 3= X717t o2 A=l 2[Rt M2 iBtct,

e}

— = X717 o>

AlZol| S2|UACI Y2,

1. L= T7f 2iEsioia Mzigict

XX-I |

A0|H SHEE i

2. RS2 X7t S2ckn Leic,
> o] T2l BHAr S

3. 3= HollA 27t Lk &l Aol 2

> 0| 2p0|H SHEE i

ATt L



Unit 58 > 3t

FAR Akt — 1HA

- 2ol 2t — Sl

NWw N

N

e
B
0
|
ol

=

AL,

Ol
)
0
i
L
=
-i>
mlm
0||}>|

OI5HX|

v > @™ > W >
T
fu
=]
]

L >
o
40
mn
inl
12
1o
4>
30
=
O

gt

UNIT TEST P-197

A 1 how | was old — how old | was 2 ago —

before 3 to not smoke — not to smoke
4 where was he from — where he was from
B 1then

C 1 told me (that) he was very tired 2 asked her

2 asked, to give 3 we (should)

where she lived 3 told me to stand up 4 asked
him if whether) he liked music

D 1“lamsad now.” 2 “Canyou play basketball?”

A

1. JUE LA E ARIX| Ect
» how old:= 3iLte| oj=2Alz FZsict
2. Li= J0iA L3 Mol O F3le B/t Lsict

> ago= 1AMl before= 1 ofFe| ARZKIIAYZ)S LiEL
o MOICt
3. 3= Lol A7 (0lA EHiE DX Latn

3Lt

> 2EHSO

RSt Mot +o B ™AL RS ARSSICL
4. JUe 307 ofc| EAlojubn SRict,
> o2 20| ZRYslHo| S molls

TOIZAHFOHSALS] Ol
of =t

1. J= Juf dEskctn 3Kt
» =EAte] 2x| now — then
2.0 A2 Lol MEE & Fetn 3L

> IIHH20]| pleasert YoM MUY=A= ask(@MsiCHIL =
L, HAEZ0|22 toBE™ALZ HASICE

3. 3= 2[01A 20| M HXm M2,

C 1.3=

> OFMHR0| Let’s ~2 AjZGl= 2R suggested that we

should ~2 vf¥#ct Fo{oilM= should2 AR

=

ot M| itk

Ltofl7| i mIESHotn 2RC

> HMEO| ZIEEH oz AL thatg Al
JIHofIA ofcloll AR=X| SRUC
220| ZFHSIHoIN QA2APL = F
Liol|7| oMzt 2Bt

Fesig2 toREAR

r9£

=
2. L=

» 9| 2 O|ZAE ALSBIC
3. MM

» DO=IE1E'O|

[Synmy

N

(==

r

4. 3H= J0i7 242 Z0I5H=X] SUCE

> Q20| 7SN Q2AP} ot FRole ifwhethens
ARESICE
D 1 2uE U xiz 2m atn w3t
> BAMZO| 2t
2. J= LofAl " s7E 4 U et LR
> O|2A} Gl= SI2EC| ZIYsHY
pE\/IE\/\/ TEST pp- 198~200
1@ 2® 3® 4@ 5 boy,likes 6@ 7are —
is 8 how many books he would buy 9 ® 10 ®
11 was 12 hadbeen 13 @ 14 @ 15 if(whether)|
liked Brian 16 @ 17 asked, | wanted 18 told, not
to 19 suggested (proposed), should 20@

1

2

3

Grammar for NEAT
Step 1 (1) what time | would leave for London
(2) (that) she was too tired to go
(3) him that the rumor wasn’t true
Step 2 ofA| & how he improved his English listening
skills, he kept a listening diary, what a listening
diary was, that it was a record of his listening, what
he had learned from it, to give it a try
it L= Sstdolct,
> Z0i= Youet | = Algo|22 24 £Zstm, HIZe beSAp &
oz
U E= 1 F § ARZ0| Eofl Jotof Bich
» Teither A or B,0lAl= Boll SAIE Ux|AIZICE w2t heofl &

Stth7t LSt

{X|0|=22 are 7t Lgict

gk has to(~afjofet

@ 10ote & 7zjolct,



o O

@ =20|29t A0 2fal A0RICY.

® AIRI0[x} AA#LIOl 3t 50

E2X2 M

| mtE|ofl Z=CHE|RACY,
» a poet and teacher= A|QI0[Xt MALIQI 5 & — o =
were — was
@ BE et & H7F MZIM g2l Aok
® 7t Wik X| 30| X|&Ch
@ Lf#gt ol2t J= 2Ct
© U= T4 22X} ofct,
» either A nor B o= SAIE Bojl Yx|AlZICH are —is
@ Tonyet L= £2 zi70|ct,
@ St ZIXk= XpAle| AKSE0] UL
® Jimsat ofL|2t SamE 2L ESict
every= 2Jol= S0|X|2F t FF BiCt
« d= W7HZ Alof] SLEX| S)UCH
- Jane2 ZatA S| 178901 LoiRtts Z4S HHKICE
. :Lo| MP=0| xl-[]H

1} 0lof7[sh= 242 O RHO|UCH.

>« 3EO| ANt T{(@asked)o|=E o|2AF whato| 0| &4
Aol AFl= ot{(would)® UX|A|A ZCf,
« TAE A2 S BN 2Lt
« =07t Talkingo| o|11= SHAI0|Z2 3Q1F] T80l isTt
2lof Bl

7t O MiotES BOEYXl= 51K gLt

A= (Whether ~ the offers)o|

» o|2At whether7t oj;ms HA
43101 [S7} Z|0{O} BiT},

F00|22 SA= 32 He
L= 27t 2 el &g 4 AQIX| STk
012 AMEE Moll= AR 22| Of(2dZA
+ROHSANO| E0{0F SiCh Thow many+=S43iAts sttel 9|
SIEE B |OM ARBEC

ol gofalz FHz
@ Lt 7t EZsickn Mzisict

> O|ZZ0| SAE

@ J& DSt Lkt
Q@ a4 X |7t 2ok YUk
> FEO| AP A0
sttt is — was (had been
2 0 l=sHCtr LRk

@3s

® Re2l= 3 2471 T #XIE Xoh= /S 2lch

10 @ 2= 7t ofx| ZH17t EIX| QIUCHD 3HC,

@ He 220l chah fAtoflAl 2

Q@ MYEZ olo|SolA| eteztn UASHICE

@ Alexe LtolA| 27t 2A0flM OFF S=5ictn

® Mary= J149| ofmLoi|7| AFRAo] 2 Hato

> 7RSO ~ofAl of siske ZHESXoI7E Hol 2
tellg, Mgst= LI0| HIZ 2 moll= sayS ARRSCL w2

2 ol & =o| ALI?

EpuE)

AL

moll=
b @
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11

12

13

14

15

16

17

18

19

20

oll= said 7t S017tof Bttt
Li= 37} 20| ECt dZisict
> ZEO| A7t SRHOIN TEAZ HIHEH, SE5E| SIxHA K= DA
M7t =k,
= 7} WQickT st
> Ol AMIZ7t SRl abH2 HHYH, BLEC| BAMKE oA
27} Fot,
Jde= UofA "L
> BMEO| 3

Atgstn

O-I M H
Xzto|ct, say to= tell2 vppn

=0joF"2tn HHCt
&Mt thatg

QI AME =L

Lh= 00| “Fol Tst AEL7E" 2t Lt

> Q2AP} QlE iR R0l By HMBlo|ct FHSAE askedZ iR
0, HEAks ifwhetheng Algstol "Fol+8ALL| 028 3
Sict,

> ‘~QIX| OFX[ £ LIERHE 2i2At= if(whether)olm, of ol

Foll)+SAKliked),7t ok Bict FEo| AMIZH 27 @sked)ol2
2, o2AEe| AME ntliked)2 UX|AIZ ZLH

@ M2 XF7H S20t YESHAICE

@ Lindat Stuartoi|l AlAtoll chs SHEHA| L2k LAct

b ~ollA -
HNOt+HOEHALZ LIEHAT

si| 2akn waick of ol wols ¢
S0l 7k mast %2 1ol 220l
@ U 7t S0LRE! LE= T0i| BE 22 2t Zolc,
® 40| APt ofLj2t Janes felof EHLUCE

3= Lol L ofciM AT ALt B,

> IRAP} QU= ORR0| PRYEHOIC MYSAL ask, F4%o)

02 TQIZAH 01+ SALOI,

LK= 001 “2RE] AUS MMES BiX) of2t2tm Lt
> 23 20| ERIOIME MOtHORIAL 722 Agsict
I "] Asie| Jixf 2k L
blet’s ~2 AIMSHE HRESOICh ZHBHNAN &

e(should) ~ 320

EES
suggest(propose)2 HFET FHE2S w
= FsiCE

SARZE LtoliA SQet 1zt

S ol 3 B2 Ao 22| Holgz ohfse XS B F X2
A APt 22| HOSE oW Ao TER QIS LIFICE L

UMM W RiLlE AJiste oAl 22t e LIS ZIoheicie
2ot W FetE 30l =AU

S0t 3t

CF, 7 o7 TSt £ BRKD 01AS

. =]

XA, ol

TS 7K 2

AN
> @7 ZEtE 2L MUEA tellg ARt ZIEEN 2Xolct
tellingo| 2AIL20|X|2t

HAIH0|=2 | ol5t &

el AFlE 2 T Aldlet St ot

FEE AME LXAAH @= TAHAMR! was
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Grammar for NEAT

SEAD () o220 7ixspos maxo T

OIZARFOHSAL S| 0f

=o= it
(2) - (3) M=ol Zi-stHoZ FaAL thatS ALRSITH

Step 2

=

7| €715 nt 2o L=

Hi2 2S0| 2k

> Cizte| LHES mfefs

#e £71 712010, Xi=e| 38,

=

Xz Uis ofEA Sof 7| sZ2 AT
BT YIS M
2717t Hor?

| 7122, Xtz B7, Lol 7] ¥ 2

L=
=

XM &7

MR 124, 3t 3
98 25 522
L= MOl OfEA| £7] 528 SMAZER] B0t 1= £

=2
=
=7| L7171 FRIX| SUct

Fom O L= U

SA| LtoflA| i sff et 23t

Check Your Writing Yes No

chetol LHZo| e glo] 24

710l SHZALIR?

Ciet Fejel E’é@ ABRLR?

ofol| A 2

HIUR?

Chapter 20 | E+1=2

Unit 59 > £x|, 2=

UNIT TEST

p. 203

A

11did —did |
burned a lamp 4 the bus comes — comes the

2 likes —like 3 a lamp burned —

bus

1|1 do believe that he will pass the entrance
exam. 2 It was last night that when) | met her in
the subway station. 3 The machine did not help
4 What on

earth (in the world) are you talking about now?

us do the work at all(in the least).

1Soareyou 2 Neither(Nor) can John
1 Into the hole jumped 2 have, seen 3 that

where)

C

1.

LH= Chle 28 =X 23t
Zxst0 250
ol Yut=Ate] A2 do/does/did= o|gsict

» 2X0] nevers 2 S Folet AU EX|El=E

U % B0l SI0) I} EFSHLE
> AT 250) OB "SANFOL,Q of
BlAT} 2t

»there, heres} 250f 2 F0{9t SEA} EX|

- L= Z0F st Aol gstelate 2i=ct

1729 dOE AlMjet QIEl0l WA £ & 5

Hob

»last nightal z2 2ARZ Zxs wol= (It iswas) ~
that, Afojofl d=sls 22 M1, Linix| 242 that ofsiof
LIEHE 2AR7H ZEE ol

2 HiRof 2 4 ck

=tr} m=2 that2 whene

»whatat 22 o|2Al2 zx&t mjoj= on earthrt in the

. Nancyk #issict, U a2fsict,

> ~E Al 2FCE aks on|E Lietd o 3F20ME "So+s
AHZF01,9] FEHE AMESHH, SAtE o 22| SAet 22 &7

£ ASEtt

. Li= Hiol22IZ ¢IFstx| 23t Johnz RSict

» 2820|A= "Neither Non+EAHZ0{,2|

ZSAZE UE Moll=

EIE ARSoiH,
REAZ L2 ARRSICH

. Into the holeojzls A BEARLI} 250 =01 A2 Z09}
SAPL EXIEICE RARE EX|9] FP UHHEAE JH2 RV =
A|EC
. SIRIKIS) HES LIEHHZR, Thave+aizi=AL 2| Sixietz e

£ MESit o] EYoiM= BF0i2l neverg dxsk=s 2012

2, tf20l= "have+Zot+ai2AL | ofz0] ECt

on this playground7t Zxgl= 2&o|22, Tt was ~ that
BZETZ 2 MBUSS ¢ 4 Ut that CH20l= "FoHSALS
0fz=0] Elct,

L=

2]

b ol

61



Unit 60 > 28, d=f &2l 34
UNIT TEST p. 205
A 1lwas 2come 3speakEnglish 4 which was
B 1Both 2either 3all
C 1 7t SzjzK= dolls oMol ORI} Qich 2 0I=9) BfSiAt
ol Graham Bell2 32 w33ict 2l a7t
Harvardoi| Qsfgichs AAlS SUCt,
D 1abeautiful girl 2 that he comes(is) 3 Whilein
A 102, Ls = ses ZoRi
> EAPEOIM "Z0i+beSAL 42 ks
2. Lk= ©X| 21 HojM 2 Ziolct,
> tORTAOA SAPE 0l HZE 20|H, toToR toRFA
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